
ЗАТВЕРДЖЕНО

Вченою радою ЗУІ

Протокол № „3” від „27” квітня 2021 р.

Ф-КДМ-2

Закарпатський угорський інститут ім. Ференца Ракоці ІІ

Кафедра математики та інформатики

Реєстраційний №___________

Кваліфікаційна робота

ДОСЛІДЖЕННЯ ТА АНАЛІЗ ВИКОРИСТАННЯ МЕТОДІВ
РОЗВ’ЯЗАННЯ СИСТЕМ ЛІНІЙНИХ РІВНЯНЬ У НАВЧАННЯ

МАТЕМАТИКИ

Полінскі Георгіна Степанівна

Студентка ІV-го курсу

Освітня програма014 «Середня освіта(Математика)»

Ступінь вищої освіти: бакалавр

Тема затверджена Вченою радою ЗУІ

Протокол № 10 від 27 жовтня 2021 року

Науковий керівник:  Жигуц Юрій Юрійович

док. техн. наук, професор, завідувач кафедри технології машинобудування, УжНУ

Завідувач кафедрою математики та інформатики: Кучінка Каталін Йожефівна

к. ф.-м. н 

Робота захищена на оцінку _________, «___» ____________  202_ року

Протокол № ______ / 202_



ЗАТВЕРДЖЕНО

Вченою радою ЗУІ

Протокол № „3” від „27” квітня 2021 р.

Ф-КДМ-2

Закарпатський угорський інститут ім. Ференца Ракоці ІІ

Кафедра математики та інформатики

Кваліфікаційна робота

ДОСЛІДЖЕННЯ ТА АНАЛІЗ ВИКОРИСТАННЯ МЕТОДІВ
РОЗВ’ЯЗАННЯ СИСТЕМ ЛІНІЙНИХ РІВНЯНЬ У НАВЧАННЯ

МАТЕМАТИКИ

Ступінь вищої освіти: бакалавр

Виконав: студентка IV-гокурсу

Полінскі Георгіна Степанівна

Освітня програма 014 «Середня освіта(Математика)»

Науковий керівник: Жигуц Юрій Юрійович

док. техн. наук, професор, завідувач кафедри технології машинобудування, УжНУ

Рецензент: Мич Ігор Андрійович

канд. фіз.-мат. наук, доцент кафедри кібернетики і прикладної математики
Державного вищого навчального закладу УжНУ

Берегове

2022



➬ì✐ñò

➶ñòóï ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✻

✶ Ñèñòåìè ë✐í✐éíèõ ð✐âíÿíü ✼

✶✳✶ ðîçâ✬ÿçóâàííÿ ñèñòåì ë✐í✐éíèõ ð✐âíÿíü ç ãðàô✐÷íèì ìåòîäîì ✳ ✳ ✳ ✽

✶✳✷ ðîçâ✬ÿçóâàííÿ ñèñòåì ë✐í✐éíèõ ð✐âíÿíü ìåòîäîì ï✐äñòàíîâêè ✳ ✳ ✳ ✶✵

✶✳✸ ðîçâ✬ÿçóâàííÿ ñèñòåì ë✐í✐éíèõ ð✐âíÿíü ìåòîäîì äîäàâàííÿ ✳ ✳ ✳ ✳ ✶✶

✷ ❒åòîäè ðîçâ✬ÿçóâàííÿ ñèñòåìè ë✐í✐éíèõ ð✐âíÿíü ó çàãàëüíîîñâ✐✲

òí✐é øêîë✐ ✶✹

✸ ❒åòîäè ðîçâ✬ÿçóâàííÿ ñèñòåìè ë✐í✐éíèõ ð✐âíÿíü ó âèùî➝ îñâ✐òè ✷✼

✹ ➶ëàñí✐ ðåçóëüòàòè ✸✷

➶èñíîâêè óãîðñüêîþ ìîâîþ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✺

Ñïèñîê ë✐òåðàòóðè ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✻

Ñïèñîê ✐ëþñòðàö✐é ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✼

➶èñíîâêè ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✽

✸



ЗАТВЕРДЖЕНО

Вченою радою ЗУІ

Протокол № „3” від „27” квітня 2021 р.

Ф-КДМ-2

II. Rákóczi Ferenc Kárpátaljai Magyar Főiskola

Matematika és Informatika Tanszék

A LINEÁRIS EGYENLETRENDSZEREK MEGOLDÁSI
MÓDSZEREINEK VIZSGÁLATA ÉS ELEMZÉSE A MATEMATIKA

OKTATÁSBAN

Szakdolgozat 

Képzési szint: alapképzés

Készítette: Palinszky Georgina

IV. évfolyamos hallgató

Képzési program:014„Középiskolai oktatás (Matematika)”

Témavezető: Zsiguc György

techn. tud. doktora, prof., tanszékvezető építőgépészeti technológiák tanszék, UNE

Recenzens: Mics Igor

fiz.-mat. tud. kandidátusa, az UNE kibernetika és alkalmazott matematika tanszékének

docense

Beregszász – 2022



❚❛rt❛❧♦♠❥❡❣②③✁❡❦

❇❡✈❡③❡t✁❡s ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✻

✶✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ✼

✶✳✶✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❣r❛✜❦✉s❛♥ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✽

✶✳✷✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧ ✳ ✳ ✳ ✶✵

✶✳✸✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡✈❡❧ ✶✶

✷✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ✁❛❧t❛❧✁❛♥♦s ✐s❦♦❧✁❛❜❛♥ ✶✹

✸✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ❛ ❢❡❧s✆♦♦❦t❛t✁❛s❜❛♥ ✷✼

✹✳ ❙❛❥✁❛t ❡r❡❞♠✁❡♥②❡❦ ✸✷

☎❖ss③❡❣③✁❡s ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✺

■r♦❞❛❧♦♠❥❡❣②③✁❡❦ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✻

✁❆❜r✁❛❦ ❥❡❣②③✁❡❦❡ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✼

☎❖ss③❡❣③✁❡s ✉❦r✁❛♥✉❧ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✸✽

✺



❇❡✈❡③❡t✁❡s

❆ ❧✐♥❡✁❛r✐s ❛❧❣❡❜r❛ ❛❧❦❛❧♠❛③✁❛s✐ t❡r☎✉❧❡t❡ ✐❣❡♥ s③✁❡❧❡s ❛ t❡r♠✁❡s③❡tt✉❞♦♠✁❛♥②♦❦ ❦☎♦r✁❡❜❡♥✳

❚❛❧✁❛❧❦♦③❤❛t✉♥❦ ✈❡❧❡ ♥❡♠ ❝s❛❦ ❛ ♠❛t❡♠❛t✐❦❛✐ ♣r♦❜❧✁❡♠✁❛❦ ♠❡❣♦❧❞✁❛s✁❛♥✁❛❧✱ ❞❡ ♣✁❡❧❞✁❛✉❧

❛ ❦✁❡♠✐❛ ❡❣②❡s t❡r☎✉❧❡t❡✐♥✱ ❣❛③❞❛s✁❛❣✐ ❢❡❧❛❞❛t♦❦ ♠❡❣♦❧❞✁❛s❛❦♦r✱ ❞❡ ❛❦✁❛r ❛ ♠✐♥❞❡♥♥❛♣✐

✁❡❧❡t☎✉♥❦ s♦r✁❛♥ ✐s✳

❙❡❣✁✙ts✁❡❣❡t ❛ ❧✐♥❡✁❛r✐s ❛❧❣❡❜r❛✐ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ❢❡❧✁✙r✁❛s❛ ✁❡s ♠❡❣♦❧❞✁❛s❛ ♥②✁✉❥t s③✁❛♠✉♥❦r❛

❛ ♣r♦❜❧✁❡♠✁❛❦ ♠❡❣✁❡rt✁❡s✁❡❤❡③ ✁❡s ♠❡❣♦❧❞✁❛s✁❛❤♦③✳

❉✐♣❧♦♠❛♠✉♥❦✁❛♠❜❛♥ ✁❛tt❡❦✐♥t❥☎✉❦ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ❞❡✜♥✁✙❝✐✁♦❥✁❛t✱ ♠❛❥❞ ♠❡❣✲

♦❧❞✁❛s✁❛♥❛❦ ♠✁♦❞s③❡r❡✐t✳ ❆③ ❡❧s✆♦ ❢❡❥❡③❡t❜❡♥ ❛ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡❦ ❛❧❣♦r✐t♠✉s✁❛t ♠✉t❛✲

t♦♠ ❜❡ ♣✁❡❧❞✁❛❦♦♥ ❦❡r❡s③t☎✉❧ ✐❧❧❡t✈❡ ☎♦ss③❡❢♦❣❧❛❧✈❛ ✁❛tt❡❦✐♥t❤❡t❥☎✉❦ ❛ ♠✁♦❞s③❡r❡❦ ❧✁❡♣✁❡s❡✐t✳

❆ ♠✁❛s♦❞✐❦ ❢❡❥❡③❡t❜❡♥ ❛③ ✁❛❧t❛❧✁❛♥♦s ✐s❦♦❧✁❛❦❜❛♥ ❤❛s③♥✁❛❧❛t♦s ♠❛t❡♠❛t✐❦❛❦☎♦♥②✈❡❦❜❡♥

s③❡r❡♣❧✆♦ ♠❡❣❤❛t✁❛r♦③✁❛s♦❦❛t ✈✐③s❣✁❛❧t❛♠ ♠❡❣✳ ▼❡❧②✐❦ ♦s③t✁❛❧②❜❛♥ ♠✐❧②❡♥ s③✐♥t❡♥ ♠❛✲

❣②❛r✁❛③③✁❛❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐t ❦☎✉❧☎♦♥❜☎♦③✆♦ s③❡r③✆♦❦✳

❆ ❦☎♦✈❡t❦❡③✆♦ ❢❡❥❡③❡t❜❡♥ ❛ ❢❡❧s✆♦♦❦t❛t✁❛s❜❛♥ ♠❡❣❥❡❧❡♥✆♦✱ ❦✁❡t✱ ❛ ❞✐✁❛❦♦❦ s③✁❛♠✁❛r❛ ✁✉❥ ♠✁♦❞s③❡r

❧✁❡♣✁❡s❡✐t t❛♥✉❧♠✁❛♥②♦③t❛♠ ✁❛t✳

❊③❡♥ ♠✁♦❞s③❡r❡❦ ♠❡❧❧❡tt ♥❡ ❢❡❧❡❞❦❡③③☎✉♥❦ ♠❡❣✱ ❤♦❣② ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ❡❣②s③❡r✆✉❜❜

♠❡❣♦❧❞✁❛s✁❛t s❡❣✁✙t❤❡t✐❦ ❡❣②❡s ♣r♦❣r❛♠♦❦ ✐s✱ ✐❧②❡♥ ♣✁❡❧❞✁❛✉❧ ❛ ▼❆❚▲❆❇✳

❆ ❢❡❧s✆♦❢♦❦✁✉ ♠❛t❡♠❛t✐❦❛ t❛♥✉❧✁❛s✐ ❢♦❧②❛♠❛t✁❛❜❛♥ ❛ ❤❛❧❧❣❛t✁♦❦ ♠❛t❡♠❛t✐❦❛✐ ❦♦♠♣❡t❡♥✲

❝✐✁❛❥✁❛♥❛❦ ❦✐❛❧❛❦✁✙t✁❛s❛ ✁❡r❞❡❦✁❡❜❡♥ ❥❛✈❛s♦❧t ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❛

♣r♦❣r❛♠♦❦ s❡❣✁✙ts✁❡❣✁❡✈❡❧ ✐s✳

❑✉t❛t✁❛s♦♠ ❝✁❡❧❥❛✱ ❤♦❣② ✁❛tt❡❦✐♥t✁❡st ❦❛♣❥✉♥❦ ❛ ❞✐✁❛❦♦❦ s③✁❛♠✁❛r❛ ✐s♠❡rt❡t❡tt ❡❣②❡♥❧❡t✲

r❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐r✆♦❧ ✁❡s ♠✐❦✁❡♥t ✈❡③❡t❥☎✉❦ ❜❡ ❡③❡♥ ❢♦♥t♦s t✁❡♠❛❦☎♦rt ❛

t❛♥✉❧✁♦❦ t✉❞✁❛s❤✁❛❧✁♦❥✁❛❜❛✳ ❚♦✈✁❛❜❜✁❛ ♠✐❧②❡♥ ✈✐ss③❛❥❡❧③✁❡s❡❦❡t ❦❛♣❤❛t✉♥❦ ❛ t❛♥✉❧✁♦❦t✁♦❧✱

♠✐❧②❡♥ s③✐♥t❡♥ s❛❥✁❛t✁✙t♦tt✁❛❦ ❡❧ ❛ ♠✁♦❞s③❡r❡❦ ❧✁❡♣✁❡s❡✐t✱ ❤♦❣②❛♥ ❛❧❦❛❧♠❛③③✁❛❦ ♣✁❡❧❞✁❛❦♦♥ ❛

❦❛♣♦tt ❡❧♠✁❡❧❡t✐ t✉❞✁❛s✉❦❛t✱ ✐❧❧❡t✈❡ ♠✐❧②❡♥ ❣②❛❦♦r✐ ❤✐❜✁❛❦❛t ✈✁❡t❡♥❡❦✳

✻



✶✳ ❢❡❥❡③❡t

▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦

❑✁❡t ✈❛❣② t☎♦❜❜ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❛❧❦♦t✳ P✁❡❧❞✁❛✉❧✿

x− 3y = −5

2x+ 4y = 10

❉❡✜♥✁✙❝✐✁♦✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡♥ ✉❣②❛♥❛③♦❦❜❛♥ ❛ ✈✁❛❧t♦③✁♦❦❜❛♥ ❧✐♥❡✁❛r✐s ❡❣②❡♥✲

❧❡t❡❦ ❡❣② ✈✁❡❣❡s ❤❛❧♠❛③✁❛t ✁❡rt❥☎✉❦✳ ✁❆❧t❛❧✁❛♥♦s ❛❧❛❦❥❛ m ❡❣②❡♥❧❡t ✁❡s n ✐s♠❡r❡t❧❡♥ ❡s❡t✁❡♥

a11x1 + a12x2 + · · ·+ a1nxn = b1

a21x1 + a22x2 + · · ·+ a2nxn = b2

✳✳✳

am1x1 + am2x2 + · · ·+ amnxn = bm

❛❤♦❧ x1, x2, . . . xn ❛③ ✐s♠❡r❡t❧❡♥❡❦✱ aij ❛③ i✲❡❞✐❦ ❡❣②❡♥❧❡t❜❡♥ ❛③ xj ✐s♠❡r❡t❧❡♥ ❡❣②☎✉tt❤❛✲

t✁♦❥✁❛t ❥❡❧☎♦❧✐✱ ✁❡s bi ❛③ i✲❡❞✐❦ ❡❣②❡♥❧❡t ❦♦♥st❛♥s t❛❣❥❛✳ ❍❛ ♠✐♥❞❡❣②✐❦ ❡❣②❡♥❧❡t ❦♦♥st❛♥s

t❛❣❥❛ 0✱ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r ❤♦♠♦❣✁❡♥✱ ❤❛ ❝s❛❦ ❡❣② ✐s ❦☎✉❧☎♦♥❜☎♦③✐❦ 0✲t✁♦❧ ✐♥❤♦✲

♠♦❣✁❡♥✳

❆ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛ ❡❣② r❡♥❞❡③❡tt ♣✁❛r✱ ❛♠❡❧② ♠✐♥❞❡♥ ❡❣②❡s

❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t ♠❡❣♦❧❞✁❛s❛✳

❉❡✜♥✁✙❝✐✁♦✳ ❆③t ♠♦♥❞❥✉❦✱ ❤♦❣② ❛ r❡♥❞❡③❡tt (u1, u2, . . . , un) s③✁❛♠✲n✲❡s ♠❡❣♦❧❞✁❛s❛ ❛③

❡❧✆♦③✆♦ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦✱ ❤❛ ♠❡❣♦❧❞✁❛s❛ ♠✐♥❞❡♥ ❡❣②❡♥❧❡t♥❡❦✱ ❛③❛③ ♠✐♥❞❡♥ ❡❣②❡♥❧❡t❡t

❦✐❡❧✁❡❣✁✙t ❛③ x1 = u1, x2 = u2, . . . xn = un ❤❡❧②❡tt❡s✁✙t✁❡ss❡❧✳ ❍❛ ❡ s③✁❛♠✲n✲❡st ✈❡❦t♦r♥❛❦

✼



t❡❦✐♥t❥☎✉❦✱ ♠❡❣♦❧❞✁❛s✈❡❦t♦rr✁♦❧ ❜❡s③✁❡❧☎✉♥❦✳ ❆③ ☎♦ss③❡s ♠❡❣♦❧❞✁❛s ❤❛❧♠❛③✁❛t ❛③ ❡❣②❡♥❧❡t✲

r❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❤❛❧♠❛③✁❛♥❛❦ ♥❡✈❡③③☎✉❦✳ ❊❣② ❡❣②❡♥❧❡tr❡♥❞s③❡rt ♠❡❣♦❧❞❤❛t✁♦♥❛❦ ✈❛❣②

❦♦♥③✐s③t❡♥s♥❡❦ ♥❡✈❡③☎✉♥❦✱ ❤❛ ✈❛♥ ♠❡❣♦❧❞✁❛s❛✱ ❛③❛③ ❤❛ ♠❡❣♦❧❞✁❛s❤❛❧♠❛③❛ ♥❡♠ ☎✉r❡s✳

❊❧❧❡♥❦❡③✆♦ ❡s❡t❜❡♥ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♥❡♠ ♠❡❣♦❧❞❤❛t✁♦ ✈❛❣② ✐♥❦♦♥③✐s③t❡♥s✳

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ❦☎♦③☎✉❧ t❡❦✐♥ts☎✉❦ ✁❛t ❛ ✸ ❧❡❣✐s♠❡r✲

t❡❜❜ ♠✁♦❞s③❡rt✳

✶✳✶✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❣r❛✜❦✉✲

s❛♥

✶✳ ❋❡❧❛❞❛t✳ ❖❧❞❥✉❦ ♠❡❣ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ♠✐♥❞❦✁❡t ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t ✁❛❜r✁❛③♦❧✁❛s✁❛✈❛❧

✁❡s ❛ ♠❡ts③✁❡s♣♦♥t✭♦❦✮ ♠❡❣❦❡r❡s✁❡s✁❡✈❡❧✳

4x = 8

6y = −3x+ 6

▼❡❣♦❧❞✁❛s✳ ❆③ ❡❧s✆♦ 4x = 8 ❡❣②❡♥❧❡t ❢❡❧✁✙r❤❛t✁♦ ♠✐♥t x = 2✳ ❊③ ❡❣② ❢☎✉❣❣✆♦❧❡❣❡s ❡❣②❡♥❡s

❡❣②❡♥❧❡t❡✳ ❆ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t ✁❛❜r✁❛③♦❧✁❛s✁❛❤♦③ ✁✙r❥❛ ❢❡❧ ❛③ ❡❣②❡♥❧❡t❡t ♦❧②❛♥ ❛❧❛❦❜❛♥✱

❤♦❣② ♠❡❣ t✉❞❥✉❦ ✁❛❧❧❛♣✁✙t❛♥✐ ❛ ♠❡r❡❞❡❦s✁❡❣❡t✳ ❊❧s✆♦ ❡❣②❡♥❧❡t✿

4x = 8

x = 2

▼✁❛s♦❞✐❦ ❡❣②❡♥❧❡t✿

6y = −3x+ 6

6y

6
=

−3x

6
+

6

6

y = −
1

2
x+ 1

❆③ ❡❣②❡♥❧❡t❡❦ ❣r❛✜❦♦♥❥❛✐t ❛③ ✶✳✶ ✁❛❜r❛ ♠✉t❛t❥❛✳ ❆ ♠❡ts③✁❡s♣♦♥t (2, 0)✳ ❊③t

♠❡❣❡r✆♦s✁✙t❤❡t❥☎✉❦✱ ❤❛ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❜❡ ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛ (2, 0)✲t✳

✽



✶✳✶✳ ✁❛❜r❛✳ ●r❛✜❦✉s ♠✁♦❞s③❡r

4(2) = 8

8 = 8

6(0) = −3(2) + 6

0 = 0

▼✐♥❞❦✁❡t ❡s❡t❜❡♥ ✐❣❛③ ❡❣②❡♥❧✆♦s✁❡❣❡t ❦❛♣✉♥❦✳ ❚❡❤✁❛t ❛ ♠❡❣♦❧❞✁❛s (2, 0)

❆ ❢❡❧❛❞❛t❜❛♥ ❛③ ❡❣②❡♥❡s❡❦❡t ❛③ x ✁❡s y ♠❡ts③✁❡s♣♦♥t♦❦ ✈❛❣② t✁❛❜❧✁❛③❛t s❡❣✁✙ts✁❡❣✁❡✈❡❧

✐s ❧❡❤❡t❡tt ✈♦❧♥❛ ✁❛❜r✁❛③♦❧♥✐✳ ❆③ ❡❣②❡♥❧❡t❡❦ ✐❧②❡♥ ❛❧❛❦❜❛♥ t☎♦rt✁❡♥✆♦ ❢❡❧✁✙r✁❛s✁❛♥❛❦ ❛③♦♥❜❛♥

❛③ ❛③ ❡❧✆♦♥②❡✱ ❤♦❣② ☎♦ss③❡ t✉❞❥✉❦ ❤❛s♦♥❧✁✙t❛♥✐ ❛③ ❡❣②❡s ❡❣②❡♥❡s❡❦ ♠❡r❡❞❡❦s✁❡❣✁❡t ✁❡s y

t❡♥❣❡❧②♠❡ts③❡t✁❡t✳

✶✳ ❍❛ ❛ ♠❡r❡❞❡❦s✁❡❣❡❦ ❦☎✉❧☎♦♥❜☎♦③♥❡❦✱ ❛ ✈♦♥❛❧❛❦ ❦☎✉❧☎♦♥❜☎♦③✆♦❡❦✱ ♥❡♠ ♣✁❛r❤✉③❛♠♦s❛❦✱ ✁❡s

♣♦♥t♦s❛♥ ❡❣② ♣♦♥t❜❛♥ ❦❡❧❧ ♠❡ts③❡♥✐☎✉❦ ❡❣②♠✁❛st✳

✷✳ ❍❛ ❛ ♠❡r❡❞❡❦s✁❡❣❡❦ ❛③♦♥♦s❛❦ ✁❡s ❛③ y t❡♥❣❡❧②♠❡ts③❡t❡❦ ❡❧t✁❡r✆♦❡❦✱ ❛③ ❡❣②❡♥❡s❡❦

♣✁❛r❤✉③❛♠♦s❛❦ ✁❡s ♥❡♠ ♠❡ts③✐❦ ❡❣②♠✁❛st✳

✸✳ ❍❛ ❛ ♠❡r❡❞❡❦s✁❡❣❡❦ ❛③♦♥♦s❛❦ ✁❡s ❛③ y ♠❡ts③✁❡s♣♦♥t♦❦ ❛③♦♥♦s❛❦✱ ❛❦❦♦r ❛ ❦✁❡t ❡❣②❡♥✲

❧❡t❤❡③ ✉❣②❛♥❛③ ❛③ ❡❣②❡♥❡s t❛rt♦③✐❦✳

✾



✶✳✷✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❜❡❤❡❧②❡t✲

t❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧

❊③ ❛ ♠✁♦❞s③❡r ❦☎✉❧☎♦♥☎♦s❡♥ ❢♦♥t♦s✱ ♠❡rt ❢❡❥❧❡tt❡❜❜ ♣r♦❜❧✁❡♠✁❛❦ ♠❡❣♦❧❞✁❛s✁❛r❛ ✐s ❤❛s③♥✁❛❧❤❛t✁♦✱

❜❡❧❡✁❡rt✈❡ ❛ ♥❡♠❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦❡t ✐s✳

✷✳ ❋❡❧❛❞❛t✳ ❖❧❞❥✉❦ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r ❛❧❦❛❧✲

♠❛③✁❛s✁❛✈❛❧✳

x− y = 4

x+ y = 16

▼❡❣♦❧❞✁❛s✳ ❆ ♠✁♦❞s③❡r ❡❧s✆♦ ❧✁❡♣✁❡s❡✱ ❤♦❣② ❛③ ❡❣②✐❦ ✈✁❛❧t♦③✁♦t ❦✐❢❡❥❡③③☎✉❦ ❛③ ❡❣②✐❦ ❡❣②❡♥✲

❧❡t❜✆♦❧✳ ❆③ ❡❧s✆♦ ❡❣②❡♥❧❡t ♠❡❣♦❧❞✁❛s❛ x✲r❡ x = 4+ y✳ ❊❦❦♦r✱ ♠✐✈❡❧ x ❡❣②❡♥❧✆♦ 4+ y✲❛❧✱ ❛

❦✐❢❡❥❡③✁❡s ❤❡❧②❡tt❡s✁✙t❤❡t✐ x✲❡t ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❜❡♥✳ ✁■❣② ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❜❡♥ ❝s❛❦

y ♠❛r❛❞✳

(4 + y) + y = 16

4 + 2y = 16

2y = 12

y = 6

❆③ x ♠❡❣t❛❧✁❛❧✁❛s✁❛❤♦③ ❛③ y = 6 ✁❡rt✁❡❦❡t ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ x = 4 + y ❡❣②❡♥❧❡t❜❡

x = 4 + (6)

x = 10

❱✐ss③❛❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛ ❦❛♣♦t x ✁❡s y ✁❡rt✁❡❦❡❦❡t ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❜❡

(10)− (6) = 4

4 = 4

(10) + (6) = 16

16 = 16

■❣❛③ ❡❣②❡♥❧✆♦s✁❡❣❡❦❡t ❦❛♣t✉♥❦✱ ❛ ♠❡❣♦❧❞✁❛s t❡❤✁❛t (10, 6)

❆ ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r ❧✁❡♣✁❡s❡✐✿

✶✵



✶✳ ❋❡❥❡③③☎✉❦ ❦✐ ❛③ ❡❣②✐❦ ✈✁❛❧t♦③✁♦t ❡❣② ❡❣②❡♥❧❡t❜✆♦❧✳

✷✳ ❍❡❧②❡tt❡s✁✙ts☎✉❦ ❜❡ ❛③ ✶✳ ❧✁❡♣✁❡s❜❡♥ ❦❛♣♦tt ❡❣②❡♥❧✆♦s✁❡❣❡t ❛ ♠✁❛s✐❦ ❡❣②❡♥❧❡t❜❡✳

✸✳ ❖❧❞❥✉❦ ♠❡❣ ❛ ❦❛♣♦tt ❡❣②❡♥❧❡t❡t✦

✹✳ ❍❡❧②❡tt❡s✁✙ts☎✉❦ ✈✐ss③❛ ❛ ✸✳ ❧✁❡♣✁❡s❜❡♥ t❛❧✁❛❧t ✁❡rt✁❡❦❡t ❛③ ✶✳ ❧✁❡♣✁❡s❜❡♥ s③❡r❡♣❧✆♦ ❡❣②❡♥✲

❧❡t❜❡✱ ✁❡s ❦❡r❡ss☎✉❦ ♠❡❣ ❛ ❢❡♥♥♠❛r❛❞✁♦ ✈✁❛❧t♦③✁♦ ✁❡rt✁❡❦✁❡t✳

✺✳ ❊❧❧❡♥✆♦r✐③③☎✉❦ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t ❡s❡t✁❡❜❡♥✱ ❤♦❣② ❛ ❦❛♣♦tt ✁❡rt✁❡❦❡❦❦❡❧ ✐❣❛③ ❡❣②❡♥✲

❧✆♦s✁❡❣❡t ❦❛♣✉♥❦✱ ✁❡s ✁✙r❥✉❦ ❧❡ ❛ ♠❡❣♦❧❞✁❛st r❡♥❞❡③❡tt ♣✁❛r❦✁❡♥t✦

✶✳✸✳ ▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❡❣②❡♥❧✆♦

❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡✈❡❧

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡✈❡❧ t☎♦rt✁❡♥✆♦ ♠❡❣♦❧❞✁❛s✁❛t ✁✉❣②

❦❡③❞❥☎✉❦✱ ❤♦❣② ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡t s③❛❜✈✁❛♥②♦s Ax + By = C ❢♦r♠✁❛❜❛♥ ✁✙r❥✉❦ ❢❡❧✳

❊③✉t✁❛♥ ❡❣② ❡❦✈✐✈❛❧❡♥s r❡♥❞s③❡rt ❤♦③✉♥❦ ❧✁❡tr❡ ✁✉❣②✱ ❤♦❣② ❛③ ❡❣②✐❦ ✈❛❣② ♠✐♥❞❦✁❡t

❡❣②❡♥❧❡t❡t ♠❡❣s③♦r♦③③✉❦ ❛ ♠❡❣❢❡❧❡❧✆♦ ✁❛❧❧❛♥❞✁♦❦❦❛❧✱ ❤♦❣② ❡❧❧❡♥t✁❡t❡s ❡❣②☎✉tt❤❛t✁♦❦❛t ❤♦③✲

③✉♥❦ ❧✁❡tr❡ ❛③ x ✈❛❣② ❛③ y ✈✁❛❧t♦③✁♦♥✳ ❊③✉t✁❛♥ ❛③ ❡❣②❡♥❧❡t❡❦❡t ☎♦ss③❡❛❞❤❛t❥✉❦✱ ❤♦❣②

❦✐❦☎✉s③☎♦❜☎♦❧❥☎✉❦ ❛③ ❡❧❧❡♥t✁❡t❡s ❡❣②☎✉tt❤❛t✁♦❥✁✉ ✈✁❛❧t♦③✁♦t✳ ❊③t ❛ ❢♦❧②❛♠❛t♦t ❛ ❦☎♦✈❡t❦❡③✆♦

❢❡❧❛❞❛t ♠❡❣♦❧❞✁❛s✁❛♥ ♠✉t❛t❥✉❦ ❜❡✳

✸✳ ❋❡❧❛❞❛t✳ ❖❧❞❥✉❦ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡♥❡❦

❛❧❦❛❧♠❛③✁❛s✁❛✈❛❧✳

4x+ 5y = 2

3x = 1− 4y

▼❡❣♦❧❞✁❛s✳ ✁■r❥✉❦ ❢❡❧ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡t s③❛❜✈✁❛♥②♦s ❢♦r♠✁❛❜❛♥

4x+ 5y = 2

3x+ 4y = 1

❆③ x ❦✐❦☎✉s③☎♦❜☎♦❧✁❡s✁❡❤❡③ ♠❡❣✈✁❛❧t♦③t❛t❥✉❦ ❛③ ❡❣②☎✉tt❤❛t✁♦✐t 12✲r❡ ✁❡s −12✲r❡✳ ❆③ ❡❧s✆♦ ❡❣②❡♥✲

❧❡t❡t s③♦r♦③③✉❦ 3✲❛❧✱ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❡t −4✲❡❧

12x+ 15y = 6

✶✶



−12x− 16y = −4

☎❖ss③❡❛❞❥✉❦ ❛ ❦❛♣♦tt ❡❣②❡♥❧❡t❡❦❡t

−y = 2

y = −2

❇❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ y = −2 ✁❡rt✁❡❦❡t ❛③ ❡❣②✐❦ ❡r❡❞❡t✐ ❡❣②❡♥❧❡t☎✉♥❦❜❡ ✁❡s ♠❡❣❤❛t✁❛r♦③③✉❦

❛③ x ✁❡rt✁❡❦✁❡t

3x = 1− 4y

3x = 1− 4(−2)

3x = 1 + 8

3x = 9

x = 3

❊❧❧❡♥✆♦r✐③③☎✉❦✱ ❤♦❣② ❛ ❦❛♣♦tt ✁❡rt✁❡❦❡❦ ♠❡❧❧❡tt ✐❣❛③❛❦ ❧❡s③♥❡❦ ❛③ ❡r❡❞❡t✐ ❡❣②❡♥❧❡t❡❦

4x+ 5y = 2

4(3) + 5(−2) = 2

2 = 2

3x = 1− 4y

3(3) = 1− 4(−2)

9 = 9

❆ ♠❡❣♦❧❞✁❛s t❡❤✁❛t (3,−2)

❆③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡♥❡❦ ❧✁❡♣✁❡s❡✐✿

✶✳ ✁■r❥✉❦ ❢❡❧ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡t s③❛❜✈✁❛♥②♦s Ax+By = C ❢♦r♠✁❛❜❛♥✳

✷✳ ❚☎♦rt ✈❛❣② t✐③❡❞❡s t☎♦rt t☎♦r❧✁❡s❡✳

✸✳ ❙③♦r♦③③✉❦ ♠❡❣ ❛③ ❡❣②✐❦ ✈❛❣② ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡t ♥❡♠ ♥✉❧❧❛ ✁❛❧❧❛♥❞✁♦❦❦❛❧✱ ❤♦❣②

❡❧❧❡♥t✁❡t❡s ❡❣②☎✉tt❤❛t✁♦❦❛t ❤♦③③✉♥❦ ❧✁❡tr❡ ❛③ ❡❣②✐❦ ✈✁❛❧t♦③✁♦❤♦③✳

✹✳ ❆❞❥✉❦ ☎♦ss③❡ ❛ ✸✳ ❧✁❡♣✁❡s ❡❣②❡♥❧❡t❡✐t ❡❣② ✈✁❛❧t♦③✁♦ ❦✐❦☎✉s③☎♦❜☎♦❧✁❡s✁❡❤❡③✳

✶✷



✺✳ ❖❧❞❥✉❦ ♠❡❣ ❛ ❢❡♥♥♠❛r❛❞✁♦ ❡❣②❡♥❧❡t❡t✳

✻✳ ❇❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ ✺✳ ❧✁❡♣✁❡s❜❡♥ t❛❧✁❛❧t ✐s♠❡rt ✁❡rt✁❡❦❡t ❛③ ❡❣②✐❦ ❡r❡❞❡t✐ ❡❣②❡♥❧❡t✲

❜❡✱ ❤♦❣② ♠❡❣t❛❧✁❛❧❥✉❦ ❛ ♠✁❛s✐❦ ✈✁❛❧t♦③✁♦t✳

✼✳ ❊❧❧❡♥✆♦r✐③③☎✉❦ ❛ r❡♥❞❡③❡tt ♣✁❛rt ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❜❡♥✳

❆ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦♥❡❦ ❛③ ❡♠❧✁✙t❡tt ❤✁❛r♦♠ ♠✁♦❞s③❡r❡♥ ❦✁✙✈☎✉❧ ❧✁❡t❡③♥❡❦ ♠✁❛s

♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐✱ ♠❡❧②❡❦❦❡❧ ❛ ❞✐✁❛❦♦❦ ❛ ❢❡❧s✆♦♦❦t❛t✁❛s❜❛♥ t❛❧✁❛❧❦♦③♥❛❦✱ ✐❧②❡♥ ♣✁❡❧❞✁❛✉❧

❛ ●❛✉ss✲♠✁♦❞s③❡r ✈❛❣② ❛ ❈r❛♠❡r✲s③❛❜✁❛❧②✳

▲✁❡t❡③♥❡❦ ❡③❡❦❡♥ ❦✁✙✈☎✉❧ ❛ ❧✐♥❡✁❛r✐s ❛❧❣❡❜r❛✐ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✁❛t s❡❣✁✙t✆♦ ♣r♦❣✲

r❛♠♦❦ ✐s✱ ✐❧②❡♥ ♣✁❡❧❞✁❛✉❧ ❛ ▼❆❚▲❆❇✳ ❆ ▼❛t❧❛❜❜❛♥ ✐❣❡♥ ❡❣②s③❡r✆✉❡♥ ♦❧❞❤❛t✁♦❦ ♠❡❣ ❛

r❡♥❞s③❡r❡❦✳ ❊❧s✆♦ ❧✁❡♣✁❡s❜❡♥ ♠❡❣♣r✁♦❜✁❛❧❥❛ ❡❧✆♦✁❛❧❧✁✙t❛♥✐ ❛ ❈❤♦❧❡s❦②✲❢❡❧❜♦♥t✁❛st ✭❝❤♦❧✮✱ ❤❛ ❡③

♥❡♠ s✐❦❡r☎✉❧✱ ❛❦❦♦r ❛③ ▲❯✲❢❡❧❜♦♥t✁❛ss❛❧ ❤❛t✁❛r♦③③❛ ♠❡❣ ❛ ♠❡❣♦❧❞✁❛st ✭●❛✉ss✲♠✁♦❞s③❡r✮✳

❍❛ ❛③ ❡❣②❡♥❧❡t t✁✉❧❤❛t✁❛r♦③♦tt✱ ❛❦❦♦r ❡❧✆♦s③☎♦r ♠❡❣❤❛t✁❛r♦③③❛ ❛ ◗❘✲❢❡❧❜♦♥t✁❛st✱ ♠❛❥❞

❡❜❜✆♦❧ ❛ ❧❡❣❦✐s❡❜❜ ♥✁❡❣②③❡t❡s ✁❡rt❡❧❡♠❜❡♥ ❧❡❣❥♦❜❜❛♥ ❦☎♦③❡❧✁✙t✆♦ ♠❡❣♦❧❞✁❛st✳ ❆③ ✐❧②❡♥ ♣r♦❣✲

r❛♠♦❦ ♥❛❣②❜❛♥ ♠❡❣❦☎♦♥♥②✁✙t✐❦ ❡❣② r❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛t✳

❆ ▼❆❚▲❆❇✲❜❛♥ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✁❛♥❛❦ ❦✁❡t ❦☎✉❧☎♦♥❜☎♦③✆♦ ♠✁♦❞❥❛

✈❛♥✿

❍❛ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r ❦✁❡t ❡❣②❡♥❧❡t❡t t❛rt❛❧♠❛③✱ ✁❡s ❡③❡❦ ❡❣②s③❡r✆✉ ❦✐❢❡❥❡③✁❡s❡❦✱

❛❦❦♦r ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❣r❛✜❦✉s❛♥ ♠❡❣♦❧❞❤❛t✁♦✳

❚♦✈✁❛❜❜✐ ❡s❡t❡❦❜❡♥ ❛ ▼❆❚▲❆❇✲❜❛♥ ✈❛♥ ❡❣② s♣❡❝✐✁❛❧✐s ♠❡❣♦❧❞✁❛s✐ ❢✉♥❦❝✐✁♦ ❛ ❧✐♥❡✁❛r✐s

❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✁❛r❛✳

P✁❡❧❞❛✳






2x1 − x2 = 4,

5x1 + 2x2 = 3

❇❡✈✐t❡❧✐ ❡❧❥✁❛r✁❛s✿

symsx1x2

[x1, x2] = solve(′2 ∗ x1− x2 = 4′,′ 5 ∗ x1 + 2 ∗ x2 = 3′)

vpa(x1, 4)

vpa(x2, 4)

❊♥♥❡❦ ❡r❡❞♠✁❡♥②❡❦✁❡♥t ❦❛♣❥✉❦✿ ①✶❂✶✱✷✷✷✱ ①✷❂✲✶✱✺✺✻

✶✸



✷✳ ❢❡❥❡③❡t

▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦

♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ✁❛❧t❛❧✁❛♥♦s

✐s❦♦❧✁❛❜❛♥

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐✈❡❧ ❛ t❛♥✉❧✁♦❦ ✼✳ ♦s③t✁❛❧②❜❛♥ t❛❧✁❛❧♦❦③♥❛❦✳

❚❡❦✐♥ts☎✉❦ ✁❛t✱ ❤♦❣② ❛③ ♦❦t❛t✁❛st s❡❣✁✙t✆♦ t❛♥❦☎♦♥②✈❡❦ ❤♦❣②❛♥ ✈❡③❡t✐❦ ❜❡ ❛ ♠❡❣♦❧❞✁❛s✐

♠✁♦❞s③❡r❡❦❡t ❛ ✼✳ ♦s③t✁❛❧②♦s t❛♥✉❧✁♦❦ s③✁❛♠✁❛r❛✳

❍✳P✳❇❡✈③ ✁❡s ❱✳❍✳❇❡✈③ ❛ ❦☎♦✈❡t❦❡③✆♦❦✁❡♣♣❡♥ ♠❛❣②❛r✁❛③③❛ ❡③t ❛ t✁❡♠❛❦☎♦rt✿

✹✳ ❋❡❧❛❞❛t✳ ✹ ❦❣ ❝s♦❦♦❧✁❛❞✁❡ ✁❡s ✸ ❦❣ ♠✁❡③❡s❦❡❦s③ ✷✻ ❤r✐✈♥②✁❛❜❛ ❦❡r☎✉❧✱ ♠✐❦☎♦③❜❡♥ ✻ ❦❣

❝s♦❦♦❧✁❛❞✁❡ ✁❡s ✷ ❦❣ ♠✁❡③❡s❦❡❦s③ ✁❡r❛ ✸✹ ❤r✐✈♥②❛✳ ▼❡♥♥②✐❜❡ ❦❡r☎✉❧ ✶ ❦❣ ❝s♦❦♦❧✁❛❞✁❡ ✁❡s ✶ ❦❣

♠✁❡③❡s❦❡❦s③❄❬✷❪

❆ ❢❡❧❛❞❛t ❡❣②✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t ❢❡❧✁❛❧❧✁✙t✁❛s✁❛✈❛❧ ♦❧❞❤❛t✁♦ ♠❡❣✳ ✭✁❆❧❧✁✙ts✉❦ ❢❡❧ ❛③

❡❣②❡♥❧❡t❡t✦✮ ❉❡ ♠❡❣♦❧❞❤❛t✁♦ ♠✁❛s ♠✁♦❞s③❡rr❡❧ ✐s✳❬✷❪

▲❡❣②❡♥ ✶ ❦❣ ❝s♦❦♦❧✁❛❞✁❡ ✁❛r❛ x ❤r✐✈♥②❛✱ ✶ ❦❣ ♠✁❡③❡s❦❡❦s③✁❡ ♣❡❞✐❣ y ❤r✐✈♥②❛✳❬✷❪

❊❦❦♦r

4x+ 3y = 26

✁❡s

6x+ 2y = 34

❑✁❡t ❦✁❡t✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t❡t ❦❛♣✉♥❦✳ ❆③ x ✁❡s y ♦❧②❛♥ ✁❡rt✁❡❦❡✐t ❦❡❧❧ ♠❡❣❤❛t✁❛r♦③♥✉♥❦✱

❛♠❡❧②❡❦ ❡❣②✐❞❡❥✆✉❧❡❣ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡t ❦✐❡❧✁❡❣✁✙t✐❦✱ ❛③❛③ ❛③ ❡❣②❡♥❧❡t❡❦ ♠✐♥❞❡❣②✐❦✁❡t

✶✹



✐❣❛③ ❡❣②❡♥❧✆♦s✁❡❣❣✁❡ ❛❧❛❦✁✙t❥✁❛❦ ✁❛t✳ ▼✁❛s❦✁❡♥t ❢♦❣❛❧♠❛③✈❛✿ ♠❡❣ ❦❡❧❧ t❛❧✁❛❧♥✐ ♠✐♥❞❦✁❡t ❡❣②❡♥✲

❧❡t ❦☎♦③☎♦s ♠❡❣♦❧❞✁❛s✁❛t✱ ✈❛❣② ♠❡❣ ❦❡❧❧ ♦❧❞❛♥✐ ❛③ ❛❞♦tt ❡❣②❡♥❧❡tr❡♥❞s③❡rt✳❬✷❪

❍❛ ❛ ❦✁❡t ✈❛❣② t☎♦❜❜ ❡❣②❡♥❧❡t ❦☎♦③☎♦s ♠❡❣♦❧❞✁❛s✁❛t ❦❡❧❧ ♠❡❣t❛❧✁❛❧♥✐✱ ❛❦❦♦r ❛③t ♠♦♥❞❥✉❦✱

❤♦❣② ❡③❡❦ ❛③ ❡❣②❡♥❧❡t❡❦ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❛❧❦♦t♥❛❦✳ ❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❦❛♣❝s♦s

③✁❛r✁♦❥❡❧❧❡❧ ❢♦❣❥✉❦ ☎♦ss③❡✿❬✷❪






4x+ 3y = 26,

6x+ 2y = 34.

❉❡✜♥✁✙❝✐✁♦✳ ❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛ ✲ ✈❛❧❛♠❡♥♥②✐ ❡❣②❡♥❧❡t✁❡♥❡❦ ❦☎♦③☎♦s ♠❡❣✲

♦❧❞✁❛s✁❛t ❥❡❧❡♥t✐✳

P✁❡❧❞✁❛✉❧ ❛ (3; 2) s③✁❛♠♣✁❛r ❛③






x+ 3y = 9,

2x− y = 4

❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✱ ♠✐✈❡❧ 3 + 3 · 2 ✁❡s 2 · 3− 2 = 4.❬✷❪

❉❡✜♥✁✙❝✐✁♦✳ ▼❡❣♦❧❞❛♥✐ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❛♥♥②✐t ❥❡❧❡♥t✱ ♠✐♥t ♠❡❣❤❛t✁❛r♦③♥✐ ✈❛❧❛✲

♠❡♥♥②✐ ♠❡❣♦❧❞✁❛s✁❛♥❛❦ ❤❛❧♠❛③✁❛t✳

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❣r❛✜❦✉s ♠✁♦❞s③❡rr❡❧ ✐s ♠❡❣♦❧❞❤❛t✁♦✳ ❖❧❞❥✉❦ ♠❡❣ ♣✁❡❧❞✁❛✉❧

❛③ ❡❧✆♦③✆♦ ❡❣②❡♥❧❡tr❡♥❞s③❡rt✳ ❑☎♦③☎♦s ❦♦♦r❞✐♥✁❛t❛s✁✙❦❜❛♥ ♠❡❣s③❡r❦❡s③t❥☎✉❦ ❛ r❡♥❞s③❡r

♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t✁❡♥❡❦ ❣☎♦r❜✁❡❥✁❡t ✭✷✳✶ ✁❛❜r❛✮✳❬✷❪

❆③ x+3y = 9 ❡❣②❡♥❧❡t ❣☎♦r❜✁❡❥❡ ♠✐♥❞❡♥ ♣♦♥t❥✁❛♥❛❦ ❦♦♦r❞✐♥✁❛t✁❛✐ ❦✐❡❧✁❡❣✁✙t✐❦ ❡③t ❛③ ❡❣②❡♥✲

❧❡t❡t✳ ❆ 2x− y = 4 ❡❣②❡♥❧❡t ❣☎♦r❜✁❡❥❡ ♠✐♥❞❡♥ ♣♦♥t❥✁❛♥❛❦ ❦♦♦r❞✐♥✁❛t✁❛✐ ❦✐❡❧✁❡❣✁✙t✐❦ ❡③t ❛③

❡❣②❡♥❧❡t❡t✳ ❆ ♠❡❣s③❡r❦❡s③t❡tt ❣☎♦r❜✁❡❦ ❛③ A(3; 2) ♣♦♥t❜❛♥ ♠❡ts③✐❦ ❡❣②♠✁❛st✳ ❊③✁❡rt ❛

(3; 2) s③✁❛♠♣✁❛r ❛③ ❛❞♦tt r❡♥❞s③❡r ❡❣②❡t❧❡♥ ♠❡❣♦❧❞✁❛s❛✳❬✷❪

●r❛✜❦✉s ♠✁♦❞s③❡rr❡❧ t❡r♠✁❡s③❡t❡s❡♥ ❝s❛❦ ♠❡❣❦☎♦③❡❧✁✙t✆♦ ♠❡❣♦❧❞✁❛s♦❦❛t ❦❛♣✉♥❦✳ ❉❡ ❤❛

❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ x = 3 ✁❡s y = 2 ✁❡rt✁❡❦❡❦❡t ❛③ ❛❞♦tt ❡❣②❡♥❧❡tr❡♥❞s③❡r❜❡✱ ❛❦❦♦r

♠❡❣❣②✆♦③✆♦❞❤❡t☎✉♥❦ ❛rr✁♦❧✱ ❤♦❣② ❛ (3; 2) s③✁❛♠♣✁❛r ♣♦♥t♦s ♠❡❣♦❧❞✁❛s✳❬✷❪

❱❛❥♦♥ ❛ ❦✁❡t ❡❣②❡♥❧❡t❜✆♦❧ ✁❛❧❧✁♦ ♠✐♥❞❡❣②✐❦ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ❝s❛❦ ❡❣② ♠❡❣♦❧❞✁❛s❛ ✈❛♥❄

◆❡♠✳ P✁❡❧❞✁❛✉❧ ❛






3x− 2y = 6,

6x− 4y = 12

❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ✈✁❡❣t❡❧❡♥ s③✁❛♠✁✉ ♠❡❣♦❧❞✁❛s❛ ✈❛♥✳ ▼✐♥❞❦✁❡t ❡❣②❡♥❧❡t ❣☎♦r❜✁❡❥❡ ✉❣②❛♥✲

✐s ❡❣②❛③♦♥ ❡❣②❡♥❡s✳ ❚❡❤✁❛t ❡③❡♥ ❡❣②❡♥❡s ♠✐♥❞❡♥ ♣♦♥t❥✁❛♥❛❦ ❦♦♦r❞✐♥✁❛t✁❛✐✱ ♣✁❡❧❞✁❛✉❧ ❛

✶✺



✷✳✶✳ ✁❛❜r❛✳ ●r❛✜❦✉s ♠✁♦❞s③❡r

(−2;−6), (−1;−4, 5), (0;−3), (1;−1, 5), (2; 0), . . . ✲ ❛③ ❛❞♦tt r❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✳❬✷❪

❱❛♥♥❛❦ ♦❧②❛♥ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦✱ ♠❡❧②❡❦♥❡❦ ♥✐♥❝s ❡❣②❡t❧❡♥ ♠❡❣♦❧❞✁❛s✉❦ s❡♠✳ ❊③❡❦✲

♥❡❦ ❛③ ❡❣②❡♥❧❡t❡❦♥❡❦ ❛ ❣☎♦r❜✁❡✐ ♣✁❛r❤✉③❛♠♦s ❡❣②❡♥❡s❡❦✳❬✷❪

❇❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r

❆③ ❡❣②❡♥❧❡t❡❦ ♠❡❣♦❧❞✁❛s✁❛♥❛❦ ❣r❛✜❦✉s ♠✁♦❞s③❡r❡ t❡r❥❡❞❡❧♠❡s✱ ✁❡s ✁❛❧t❛❧✁❛❜❛♥ ♠❡❣✲

❦☎♦③❡❧✁✙t✆♦ ♠❡❣♦❧❞✁❛st ❛❞✳ ❊③✁❡rt ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦❡t ❣②❛❦r❛♥ ♠✁❛s ♠✁♦❞♦♥ ♦❧❞❥✁❛❦

♠❡❣✳ ❊③❡❦ ❡❣②✐❦❡ ❛ ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r✳❬✷❪

❑❡③❞❥☎✉❦ ❡❣② ♣✁❡❧❞✁❛✈❛❧✱ ♦❧❞❥✉❦ ♠❡❣ ❛ ❦☎♦✈❡t❦❡③✆♦ ❡❣②❡♥❧❡tr❡♥❞s③❡rt✦






2x− y = 4,

x+ 3y = 9.

❋❡❥❡③③☎✉❦ ❦✐ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❜✆♦❧ ❛③ x ✈✁❛❧t♦③✁♦t❬✷❪

x = 9− 3y.

▼✐✈❡❧ ❛ r❡♥❞s③❡r ❡❧s✆♦ ❡❣②❡♥❧❡t✁❡t ❛ ✈✁❛❧t♦③✁♦❦ ✉❣②❛♥❛③♦♥ ✁❡rt✁❡❦❡✐♥❡❦ ❦❡❧❧ ❦✐❡❧✁❡❣✁✙t❡♥✐☎✉❦

♠✐♥t ❛ ♠✁❛s♦❞✐❦❛t✱ ❡③✁❡rt ❛③ ❡❧s✆♦ ❡❣②❡♥❧❡t❜❡♥ ❛③ x ✈✁❛❧t♦③✁♦t ❛ ❦❛♣♦tt 9−3y ❦✐❢❡❥❡③✁❡ss❡❧

❤❡❧②❡tt❡s✁✙t❥☎✉❦✳ ❊❦❦♦r ❡❣②✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t❡t ❦❛♣✉♥❦✿❬✷❪

2(9− 3y)− y = 4,

✶✻



❛❤♦♥♥❛♥

18− 6y − y = 4

y = 2.

❆ ❦❛♣♦tt y = 2 ✁❡rt✁❡❦❡t ✈✐ss③❛❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ x = 9− 3y ❡❣②❡♥❧❡t❜❡✱ ❛❦❦♦r

x = 9− 3 · 2 = 3

✁❡rt✁❡❦❡t ❦❛♣❥✉❦✳ ❚❡❤✁❛t ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛ ❛ (3; 2) s③✁❛♠♣✁❛r✳❬✷❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧ ✈❛❧✁♦ ♠❡❣♦❧❞✁❛s✁❛❤♦③ ❛ ❦☎♦✈❡t❦❡③✆♦❦❡t ❦❡❧❧

❡❧✈✁❡❣❡③♥✐✿❬✷❪

✶✳ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ✈❛❧❛♠❡❧②✐❦ ❡❣②❡♥❧❡t✁❡❜✆♦❧ ❦✐❢❡❥❡③♥✐ ❛③ ❡❣②✐❦ ✐s♠❡r❡t❧❡♥t❀

✷✳ ❛ ❦❛♣♦tt ❦✐❢❡❥❡③✁❡st ❜❡❤❡❧②❡tt❡s✁✙t❡♥✐ ❛ ♠✁❛s✐❦ ❡❣②❡♥❧❡t❜❡❀

✸✳ ♠❡❣♦❧❞❛♥✐ ❛ ❦❛♣♦tt ❡❣②✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t❡t❀

✹✳ ❦✐s③✁❛♠✁✙t❛♥✐ ❛ ♠✁❛s✐❦ ✐s♠❡r❡t❧❡♥ ✁❡rt✁❡❦✁❡t✳❬✷❪

❊③③❡❧ ❛ ♠✁♦❞s③❡rr❡❧ ♠❡❣♦❧❞❤❛t✁♦ ❜✁❛r♠❡❧② ❧✐♥❡✁❛r✐s ❦✁❡t✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡tr❡♥❞s③❡r✳ ❆

❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rt ❛❦❦♦r ❧❡❣❝✁❡❧s③❡r✆✉❜❜ ❛❧❦❛❧♠❛③♥✐✱ ❛♠✐❦♦r ❛③ ❡❣②❡♥❧❡t❜❡♥ ❜✁❛r✲

♠❡❧②✐❦ ✈✁❛❧t♦③✁♦ ❡❣②☎✉tt❤❛t✁♦❥❛ 1✳❬✷❪

P✁❡❧❞❛✳ ❖❧❞❥✉❦ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt✦







3x = 2(y + 6),

6x+ 3y = 1 + x.

▼❡❣♦❧❞✁❛s✳ ❆③ ❛❞♦tt ❡❣②❡♥❧❡t❡❦ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t❡❦r❡ ❝s❡r✁❡❧✁❡s✁❡✈❡❧ ❛ ❦☎♦✈❡t❦❡③✆♦ ❡❣②❡♥✲

❧❡tr❡♥❞s③❡rt ❦❛♣❥✉❦✿






3x− 2y = 12,

5x+ 3y = 1;

3x = 2y + 12

x =
2

3
y + 4,

5
(2

3
y + 4

)

+ 3y = 1

10

3
y + 20 + 3y = 1

✶✼



19

3
y = −19

y = −3

x =
2

3
(−3) + 4 = 2.

F elelet : (2;−3).❬✷❪

◆✁❡❤❛ ❡❣②✐❦ ❡❣②❡♥❧❡tr❡♥❞s③❡r❜✆♦❧ ❛ ♠✁❛s✐❦❜❛ ♥❡♠ ❝s❛❦ ❡❣②❡s ✈✁❛❧t♦③✁♦❦✱ ❤❛♥❡♠

❡❣② ❡❣✁❡s③ ❦✐❢❡❥❡③✁❡s ✁❡rt✁❡❦❡ ❜❡❤❡❧②❡tt❡s✁✙t❤❡t✆♦✳ P✁❡❧❞✁❛✉❧ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡❧tr❡♥❞s③❡r






3 · (2x− 4y)− y = 44,

2x− 4y = 14

♠❡❣♦❧❞✁❛s❛ s♦r✁❛♥ ❛ 2x − 4y ❦✐❢❡❥❡③✁❡s ✁❡rt✁❡❦❡ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❜✆♦❧ ❛③ ❡❧s✆♦❜❡ ❤❡❧②❡t✲

t❡s✁✙t❤❡t✆♦✿❬✷❪

3 · 14− y = 44,

y = 42− 44,

y = −2.

❆❦❦♦r

2x− 4 · (−2) = 14,

2x = 14− 8,

x = 3.

F elelet : x = 3, y = −2.❬✷❪ ❊❧❧❡♥✆♦r③✁❡s✿

3 · (6 + 8) + 2 = 42 + 2 = 44

2 · 3− 4(−2) = 6 + 8 = 14

❆ ♠❡❣❤❛t✁❛r♦③♦tt (3;−2) s③✁❛♠♣✁❛r ❦✐❡❧✁❡❣✁✙t✐ ❛③ ❛❞♦tt ❡❣②❡♥❧❡tr❡♥❞s③❡rt✳❬✷❪

❊❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r❡

❆❞✈❛ ✈❛♥ ❛ ❦☎♦✈❡t❦❡③✆♦ ❡❣②❡♥❧❡tr❡♥❞s③❡r✿






8x− 3y = 34,

5x+ 3y = 31

✶✽



❊❧✆♦s③☎♦r ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧ ♦❧❞❥✉❦ ♠❡❣ ❛ r❡♥❞s③❡rt✳ ❆③ ❡❧s✆♦ ❡❣②❡♥❧❡t❜✆♦❧ ❦✐❢❡✲

❥❡③③☎✉❦ ❛③ y ✈✁❛❧t♦③✁♦t✱ s ❛ ❦❛♣♦tt ❦✐❢❡❥❡③✁❡ss❡❧ ❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ y ✈✁❛❧t♦③✁♦t ❛ ♠✁❛s♦❞✐❦

❡❣②❡♥❧❡t❜❡♥✿❬✷❪

y =
1

3
(8x− 34)

5x+ 3 ·
1

3
(8x− 34) = 31

5x+ 8x = 34 + 31.

❊③✉t✁❛♥ ♠✁❛r ❦☎♦♥♥②❡♥ ❜❡❢❡❥❡③❤❡t✆♦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✳❬✷❪

▼❡❣❦❛♣❤❛t❥✉❦✲❡ ❛③ 5x + 8x = 34 + 31 ❡❣②❡♥❧❡t❡t ♠✁❛s ♠✁♦❞s③❡rr❡❧❄ ■❣❡♥✱ ❡❤❤❡③

❡❧❡❣❡♥❞✆♦ ☎♦ss③❡❛❞♥✐ ❛③ ❡❣②❡♥❧❡t❡❦ ❥♦❜❜ ✁❡s ❜❛❧ ♦❧❞❛❧✁❛t✳ ▼✐✈❡❧ ❛③ y ❡❣②☎✉tt❤❛t✁♦✐ ❡❧✲

❧❡♥t✁❡t❡s ❡❧✆♦❥❡❧✆✉ s③✁❛♠♦❦✱ ❡③✁❡rt ❛③ y ✈✁❛❧t♦③✁♦t t❛rt❛❧♠❛③✁♦ t❛❣♦❦ ♠❡❣s❡♠♠✐s☎✉❧♥❡❦✳

❊③✁❡rt ❡③③❡❧ ❛ ♠✁♦❞s③❡rr❡❧ ❜✁❛r♠✐❧②❡♥ ❤❛s♦♥❧✁♦ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞❤❛t✁♦❦✿ ❛ ❜❡✲

❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r ❤❡❧②❡tt ❛③ ❡❣②❡♥❧❡t❡❦❡t t❛❣♦♥❦✁❡♥t ☎♦ss③❡❛❞❥✉❦✳ ❆ ♠❡❣♦❧❞✁❛s ❛

❦☎♦✈❡t❦❡③✆♦❦✁❡♣♣❡♥ ✁✙r❤❛t✁♦ ❧❡✿❬✷❪






8x− 3y = 34,

5x+ 3y = 31

13x = 64,

x = 5.

8 · 5− 3y = 34,

40− 3y = 34,

3y = 6,

y = 2.

F elelet : (5; 2).❬✷❪ ❊③③❡❧ ❛ ♠✁♦❞s③❡rr❡❧ ♦❧❞❥✉❦ ♠❡❣ ❛③♦❦❛t ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦❡t✱

❛♠❡❧②❡❦❜❡♥ ❜✁❛r♠✐❧②❡♥ ✈✁❛❧t♦③✁♦ ❡❣②☎✉tt❤❛t✁♦✐ ❡❧❧❡♥t✁❡t❡s ❡❧✆♦❥❡❧✆✉ s③✁❛♠♦❦✳ ■❧②❡♥ ❛❧❛❦✁✉✈✁❛

t❡❤❡t✆♦ ❜✁❛r♠✐❧②❡♥ ❧✐♥❡✁❛r✐s ❦✁❡t✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡tr❡♥❞s③❡r✳❬✷❪ P✁❡❧❞✁❛✉❧ ❛❞✈❛ ✈❛♥ ❛③ ❛❧✁❛❜❜✐

❡❣②❡♥❧❡tr❡♥❞s③❡r✿






3x+ 7y = 31,

2x+ 9y = 12.

▼❡❣s③♦r♦③③✉❦ ❛③ ❡❧s✆♦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t 2✲✈❡❧✱ ✁❡s ❛ ♠✁❛s♦❞✐❦❛t ♣❡❞✐❣ −3✲

♠❛❧✳ ❊❦❦♦r ♦❧②❛♥ r❡♥❞s③❡rt ❦❛♣✉♥❦✱ ❛♠❡❧②❜❡♥ ❛③ x ✈✁❛❧t♦③✁♦ ❡❣②☎✉tt❤❛t✁♦✐ ❡❧❧❡♥t✁❡t❡s

✶✾



❡❧✆♦❥❡❧✆✉ s③✁❛♠♦❦✳ ❆ ❦❛♣♦tt r❡♥❞s③❡r ❡❣②❡♥❧❡t❡✐ ❡❣②❡♥✁❡rt✁❡❦✆✉❡❦ ❛③ ❡r❡❞❡t✐ r❡♥❞s③❡r

❡❣②❡♥❧❡t❡✐✈❡❧✱ t❡❤✁❛t ❡♥♥❡❦ ✐s ✉❣②❛♥♦❧②❛♥ ♠❡❣♦❧❞✁❛s❛✐ ❧❡s③♥❡❦✱ ♠✐♥t ❛③ ❡r❡❞❡t✐♥❡❦✳❬✷❪

❆ ♠❡❣♦❧❞✁❛st ❛ ❦☎♦✈❡t❦❡③✆♦❦✁❡♣♣❡♥ ✁✙r❤❛t❥✉❦ ❧❡✿ ❛③ ✶✳ ❡❣②❡♥❧❡t❡t s③♦r♦③③✉❦ 2✲✈❡❧✱ ❛ ✷✳

❡❣②❡♥❧❡t❡t ♣❡❞✐❣ −3✲❛❧✳






6x+ 14y = 62,

−6x− 27y = −36.

−13y = 26,

y = −2.

2x+ 9 · (−2) = 12,

2x = 30

x = 15.

F elelet : (15;−2).❬✷❪

❆ t♦✈✁❛❜❜✐❛❦❜❛♥ ♥✁❡③③☎✉❦ ♠❡❣✱ ❤♦❣② ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐t

❤♦❣②❛♥ ✈❡③❡t✐ ❜❡ ❆✳ ❍✳ ▼❡r③❧❥❛❦✱ ❱✳ ❇✳ P♦❧♦♥s③❦✐❥ ✁❡s ▼✳ ❙③✳ ❏❛❦✐r ❛ ✼✳ ♦s③t✁❛❧②♦s

t❛♥✉❧✁♦❦ s③✁❛♠✁❛r❛✿

❆ ✷✳✷ ✁❛❜r✁❛♥ ❛ −6x + 5y = 9 ✁❡s ❛ 4x + 3y = 13 ❡❣②❡♥❧❡t❡❦ ❣r❛✜❦♦♥❥❛✐ ❧✁❛t❤❛t✁♦❦✳

❆③ M(1; 3) ♣♦♥t❜❛♥ ♠❡ts③✐❦ ❡❣②♠✁❛st✳ ❆ ♣♦♥t ♠✐♥❞❦✁❡t ❣r❛✜❦♦♥❤♦③ ❤♦③③✁❛t❛rt♦③✐❦✳

❚❡❤✁❛t ❛③ (1; 3) s③✁❛♠♣✁❛r ❛ ❦✁❡t ❡❣②❡♥❧❡t ❦☎♦③☎♦s ♠❡❣♦❧❞✁❛s❛✳❬✸❪

❍♦❣② ♠❡❣❤❛t✁❛r♦③❤❛ss✉❦ ❛ 12 cm2 t❡r☎✉❧❡t✆✉ ✁❡s 14 cm ❦❡r☎✉❧❡t✆✉ t✁❡❣❧❛❧❛♣ ♦❧❞❛❧❛✐t✱ ♠❡❣

❦❡❧❧ t❛❧✁❛❧♥✉♥❦ ❛③ xy = 12 ✁❡s 2x+ 2y = 14 ❡❣②❡♥❧❡t❡❦ ❦☎♦③☎♦s ♠❡❣♦❧❞✁❛s❛✐t✱ ❛❤♦❧ x cm

✁❡s y cm ❛ t✁❡❣❧❛❧❛♣ s③♦♠s③✁❡❞♦s ♦❧❞❛❧❛✐♥❛❦ ❤♦ss③❛✳❬✸❪

❆❤❤♦③✱ ❤♦❣② ♠❡❣t❛❧✁❛❧❥✉❦ ♥✁❡❤✁❛♥② ❡❣②❡♥❧❡t ❦☎♦③☎♦s ♠❡❣♦❧❞✁❛s✁❛t✱ ♠❡❣ ❦❡❧❧ ♦❧❞❛♥✐ ❛③

❡❣②❡♥❧❡tr❡♥❞s③❡rt✳❬✸❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❦❛♣❝s♦s ③✁❛r✁♦❥❡❧ s❡❣✁✙ts✁❡❣✁❡✈❡❧ ✁✙r❥✁❛❦ ❢❡❧✳ ❆③






xy = 12,

2x+ 2y = 14

❦✐❢❡❥❡③✁❡s ♣✁❡❧❞✁❛✉❧ ❛ 12 cm2 t❡r☎✉❧❡t✆✉ ✁❡s 14 cm ❦❡r☎✉❧❡t✆✉ t✁❡❣❧❛❧❛♣ ♦❧❞❛❧❛✐♥❛❦ ❛ ♠❡❣✲

❤❛t✁❛r♦③✁❛s✁❛r✁♦❧ s③✁♦❧✁♦ ❢❡❧❛❞❛t ♠❛t❡♠❛t✐❦❛✐ ♠♦❞❡❧❧❥❡✳ ❆






−6x+ 5y = 9,

4x+ 3y = 13

✷✵



✷✳✷✳ ✁❛❜r❛✳ ●r❛✜❦✉s ♠✁♦❞s③❡r

❡❣②❡♥❧❡tr❡♥❞s③❡r ❛ ❦✁❡t ❡❣②❡♥❡s ❦☎♦③☎♦s ♣♦♥t❥❛✐ ❦♦♦r❞✐♥✁❛t✁❛✐♥❛❦ ❛ ♠❡❣❤❛t✁❛r♦③✁❛s✁❛r✁♦❧

s③✁♦❧✁♦ ❢❡❧❛❞❛t ♠❛t❡♠❛t✐❦❛✐ ♠♦❞❡❧❧❥❡✳❬✸❪

❆ r❡♥❞s③❡r ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡ ❧✐♥❡✁❛r✐s✳ ❊③✁❡rt ❡③t ❛ r❡♥❞s③❡rt ❦✁❡t ❡❣②❡♥❧❡t❜✆♦❧ ✁❛❧❧✁♦

❦✁❡t✈✁❛❧t♦③✁♦s ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ♥❡✈❡③③☎✉❦✳❬✸❪

❉❡✜♥✁✙❝✐✁♦✳ ❆ ❦✁❡t✈✁❛❧t♦③✁♦s ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛♥❛❦ ❛③t ❛ s③✁❛♠♣✁❛rt ♥❡✲

✈❡③③☎✉❦✱ ❛♠❡❧② ♠✐♥❞❡❣②✐❦ ❡❣②❡♥❧❡t❡t ✐❣❛③ ❡❣②❡♥❧✆♦s✁❡❣❣✁❡ ❛❧❛❦✁✙t❥❛✳

❉❡✜♥✁✙❝✐✁♦✳ ❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞❛♥✐ ❛♥♥②✐t ❥❡❧❡♥t✱ ♠✐♥t ♠❡❣❤❛t✁❛r♦③♥✐ ❛③ ☎♦ss③❡s

♠❡❣♦❧❞✁❛s✁❛t✱ ✈❛❣② ❜❡❜✐③♦♥②✁✙t❛♥✐✱ ❤♦❣② ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✳

❆③ ❡❧✆♦③✆♦ r❡♥❞s③❡r❜❡♥ ❛③ ❡❣②❡♥❧❡t❡❦ ❣r❛✜❦♦♥❥❛✐ ❛③ M(1; 3) ♣♦♥t❜❛♥ ♠❡ts③✐❦

❡❣②♠✁❛st ✭✷✳✷ ✁❛❜r❛✮✳ ❆ ♣♦♥t ❦♦♦r❞✐♥✁❛t✁❛✐ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t♥❡❦ ♠❡❣♦❧❞✁❛s❛✱ t❡❤✁❛t ♠❡❣✲

♦❧❞✁❛s❛ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ✐s✳ ▼✐✈❡❧ ❛ ❣r❛✜❦♦♥♦❦♥❛❦ ♥✐♥❝s t☎♦❜❜ ❦☎♦③☎♦s ♣♦♥t❥✉❦✱

❡③✁❡rt ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ s✐♥❝s t☎♦❜❜ ♠❡❣♦❧❞✁❛s❛✳ ❚❡❤✁❛t ❛③ (1; 3) s③✁❛♠♣✁❛r ❛③ ❛❞♦tt

r❡♥❞s③❡r ❡❣②❡t❧❡♥ ♠❡❣♦❧❞✁❛s❛✳❬✸❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✁❛♥❛❦ ❢❡♥t❡❜❜ ❧❡✁✙rt ♠✁♦❞s③❡r✁❡t ❣r❛✜❦✉s ♠✁♦❞s③❡r♥❡❦

♥❡✈❡③③☎✉❦✳ ❆ ♠✁♦❞s③❡r ❧✁❡♥②❡❣❡ ❛ ❦☎♦✈❡t❦❡③✆♦✿❬✸❪

✶✳ ✁❛❜r✁❛③♦❧♥✐ ❦☎♦③☎♦s ❦♦♦r❞✐♥✁❛t❛✲r❡♥❞s③❡r❜❡♥ ❛③ ☎♦ss③❡s ❡❣②❡♥❧❡t ❣r❛✜❦♦♥❥✁❛t❀

✷✳ ♠❡❣❤❛t✁❛r♦③♥✐ ❛ ❣r❛✜❦♦♥♦❦ ☎♦ss③❡s ♠❡ts③✁❡s♣♦♥t❥✁❛♥❛❦ ❦♦♦r❞✐♥✁❛t✁❛❥✁❛t❀

✷✶



✸✳ ❛ ❦❛♣♦tt s③✁❛♠♣✁❛r♦❦ ❧❡s③♥❡❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✐✳❬✸❪

◆❡♠♠✐♥❞❡♥ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❝✁❡❧s③❡r✆✉ ❣r❛✜❦✉s❛♥ ♠❡❣♦❧❞❛♥✐✳ P✁❡❧❞✁❛✉❧✱ ❤❛ ❛③
(

1
17
;−36

85

)

s③✁❛♠♣✁❛r ✈❛❧❛♠✐❧②❡♥ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✱ ❛❦❦♦r ✁❡rt❤❡t✆♦✱ ❤♦❣② ❡③t ❣r❛✜❦✉s❛♥

♥❡❤✁❡③ ♠❡❣✁❛❧❧❛♣✁✙t❛♥✐✳ ❊③✁❡rt ❛ ❣r❛✜❦✉s ♠✁♦❞s③❡rt ❛❜❜❛♥ ❛③ ❡s❡t❜❡♥ ❤❛s③♥✁❛❧❥✁❛❦✱ ❤❛ ❛

♠❡❣♦❧❞✁❛st ❡❧✁❡❣ ❤♦③③✁❛✈❡t✆♦❧❡❣❡s❡♥ ♠❡❣❤❛t✁❛r♦③♥✐✳❬✸❪

❆ ❣r❛✜❦✉s ♠✁♦❞s③❡r ❤❛s③♥✁❛❧❛t❛ ❛❜❜❛♥ ❛③ ❡s❡t❜❡♥ ✐s ❝✁❡❧s③❡r✆✉✱ ❤❛ ♠❡❣ ❦❡❧❧ t✉❞♥✐ ❛ ♠❡❣✲

♦❧❞✁❛s♦❦ s③✁❛♠✁❛t✳ ❚✐s③t✁❛③③✉❦✱ ❤✁❛♥② ♠❡❣♦❧❞✁❛s❛ ❧❡❤❡t ❛ ❦✁❡t ❡❣②❡♥❧❡t❜✆♦❧ ✁❛❧❧✁♦ ❦✁❡t✈✁❛❧t♦③✁♦s

❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦✳❬✸❪

❍❛ ❛ r❡♥❞s③❡r ❡❣②✐❦ ❡❣②❡♥❧❡t✁❡♥❡❦ ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✱ ❛❦❦♦r ♥②✐❧✈✁❛♥✈❛❧✁♦✱ ❤♦❣② ❛ r❡♥❞✲

s③❡r s❡♠ r❡♥❞❡❧❦❡③✐❦ ♠❡❣♦❧❞✁❛ss❛❧✳ P✁❡❧❞✁❛✉❧ ❛






0x+ 0y = 7,

2x− 3y = 15

❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✳❬✸❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✐♥❛❦ s③✁❛♠❛ ❛ ❦✁❡t ❡❣②❡♥❡s ❦☎♦❧❝s☎♦♥☎♦s ❡❧❤❡❧②❡③❦❡❞✁❡s✁❡t✆♦❧

❢☎✉❣❣✿

✶✳ ❤❛ ❛③ ❡❣②❡♥❡s❡❦ ♠❡ts③✐❦ ❡❣②♠✁❛st✱ ❛ r❡♥❞s③❡r♥❡❦ ❡❣② ♠❡❣♦❧❞✁❛s❛ ✈❛♥❀

✷✳ ❤❛ ❛③ ❡❣②❡♥❡s❡❦ ❡❣②❜❡❡s♥❡❦✱ ❛ r❡♥❞s③❡r ✈✁❡❣t❡❧❡♥ s③✁❛♠✁✉ ♠❡❣♦❧❞✁❛ss❛❧ r❡♥❞❡❧❦❡✲

③✐❦❀

✸✳ ❤❛ ❛③ ❡❣②❡♥❡s❡❦ ♣✁❛r❤✉③❛♠♦s❛❦✱ ❛ r❡♥❞s③❡r♥❡❦ ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✳❬✸❪

❆ ❣r❛✜❦✉s ♠✁♦❞s③❡r ❛❧❛♣❥✁❛♥ ✁❛❧❧❛♣✁✙t♦tt✁❛❦ ♠❡❣✱ ❤♦❣② ♥❡♠ ❧✁❡t❡③✐❦ ♦❧②❛♥ ❧✐♥❡✁❛r✐s ❡❣②❡♥✲

❧❡tr❡♥❞s③❡r✱ ❛♠❡❧②✐❦ ♣♦♥t♦s❛♥ ❦✁❡t ✈❛❣② ❤✁❛r♦♠✱ ✐❧❧❡t✈❡ ♣♦♥t♦s❛♥ 100 ♠❡❣♦❧❞✁❛ss❛❧

r❡♥❞❡❧❦❡③✐❦✳❬✸❪

▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧

❍❛ ❛ ♠❛t❡♠❛t✐❦✉s♦❦ ✁✉❥ ❢❡❧❛❞❛tt❛❧ t❛❧✁❛❧❦♦③♥❛❦✱ ❛❦❦♦r ✐❣②❡❦❡③♥❡❦ ❛♥♥❛❦ ♠❡❣✲

♦❧❞✁❛s✁❛t ❛ ♠✁❛r ✐s♠❡rt ❢❡❧❛❞❛t♦❦ ♠❡❣♦❧❞✁❛s✁❛r❛ ✈✐ss③❛✈❡③❡t♥✐✳❬✸❪

▼❡❣♠✉t❛t❥✉❦✱ ❤♦❣②❛♥ ❧❡❤❡t ❛ ❦✁❡t✈✁❛❧t♦③✁♦s ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛t ✈✐ss③❛✲

✈❡③❡t♥✐ ❛③ ❡❣②✈✁❛❧t♦③✁♦s ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t ♠❡❣♦❧❞✁❛s✁❛r❛✳ ▼❡❣♦❧❞❥✉❦ ❛






2x− y = 8,

3x+ 2y = 5

✷✷



❡❣②❡♥❧❡tr❡♥❞s③❡rt✳❬✸❪

❆③ ❡❧s✆♦ ❡❣②❡♥❧❡t❜✆♦❧ ❦✐❢❡❥❡③③☎✉❦ ❛③ y ✈✁❛❧t♦③✁♦t ❛③ x✲❡♥ ❦❡r❡s③t☎✉❧✿

y = 2x− 8

❇❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❜❡ ❛③ y ❤❡❧②❡tt ❛ ❦❛♣♦tt 2x− 8 ❦✐❢❡❥❡③✁❡st✿






2x− y = 8,

3x+ 2(2x− 8) = 5

❬✸❪ ❊♥♥❡❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ✉❣②❛♥❛③♦❦ ❛ ♠❡❣♦❧❞✁❛s❛✐✱ ♠✐♥t ❛③ ❡r❡❞❡t✐ r❡♥❞✲

s③❡r♥❡❦✳ ❊③t ❛ t✁❡♥②t ✐♥❞♦❦❧✁❛s ♥✁❡❧❦☎✉❧ ❢♦❣❛❞❥✉❦ ❡❧✳❬✸❪ ❆③ ✉t✁♦❜❜✐ r❡♥❞s③❡r ♠✁❛s♦❞✐❦

❡❣②❡♥❧❡t❡ ♠✁❛r ❡❣②✈✁❛❧t♦③✁♦s✳ ▼❡❣♦❧❞❥✉❦✿

3x+ 2(2x− 8) = 5

3x+ 4x− 16 = 5

7x = 21

x = 3

❆③ x ✈✁❛❧t♦③✁♦ ♠❡❣❦❛♣♦tt ✁❡rt✁❡❦✁❡t ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ y = 2x− 8 ❦✐❢❡❥❡③✁❡s❜❡✿

y = 2 · 3− 8;

y = −2

❆ (3;−2) s③✁❛♠♣✁❛r ❛ ❦❡r❡s❡tt ♠❡❣♦❧❞✁❛s✳❬✸❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛♥❛❦ ✐♠✁❡♥t ❧❡✁✙rt ♠✁♦❞s③❡r✁❡t ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r♥❡❦

♥❡✈❡③③☎✉❦✳❬✸❪

❚❡❤✁❛t✱ ❤♦❣② ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧ ♦❧❞❤❛ss✉❦ ♠❡❣ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡rt✱ ❛

❦☎♦✈❡t❦❡③✆♦ ❧✁❡♣✁❡s❡❦❡t ❦❡❧❧ ♠❡❣t❡♥♥✐✿❬✸❪

✶✳ ❛③ ❡❣②✐❦ ❡❣②❡♥❧❡t❜✆♦❧ ❦✐❢❡❥❡③③☎✉❦ ❛③ ❡❣②✐❦ ✈✁❛❧t♦③✁♦t ❛ ♠✁❛s✐❦♦♥ ❦❡r❡s③t☎✉❧❀

✷✳ ❛ ❦✐❢❡❥❡③❡tt ✈✁❛❧t♦③✁♦ ❤❡❧②❡tt ❦❛♣♦tt ❦✐❢❡❥❡③✁❡st ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛ ♠✁❛s✐❦ ❡❣②❡♥❧❡t✲

❜❡❀

✸✳ ♠❡❣♦❧❞❥✉❦ ❛ ♠✁❛s♦❞✐❦ ❧✁❡♣✁❡s❜❡♥ ❦❛♣♦tt ❡❣②✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t❡t❀

✹✳ ❛ ✈✁❛❧t♦③✁♦ ♠❡❣❦❛♣♦tt ✁❡rt✁❡❦✁❡t ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ ❡❧s✆♦ ❧✁❡♣✁❡s❜❡♥ ❦❛♣♦tt ❦✐❢❡✲

❥❡③✁❡s❜❡❀

✷✸



✺✳ ❦✐s③✁❛♠✁✙t❥✉❦ ❛ ♠✁❛s✐❦ ✈✁❛❧t♦③✁♦ ✁❡rt✁❡❦✁❡t✳❬✸❪

❆ ❢❡❧s♦r♦❧t ❧✁❡♣✁❡s❡❦ s♦r✁❛t ❛ ❦✁❡t ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t❡t t❛rt❛❧♠❛③✁♦ ❦✁❡t✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t✲

r❡♥❞s③❡r ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rr❡❧ ✈❛❧✁♦ ♠❡❣♦❧❞✁❛s❛ ❛❧❣♦r✐t♠✉s✁❛♥❛❦ ♥❡✈❡③③☎✉❦✳❬✸❪

▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s❛ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞✲

s③❡r✁❡✈❡❧

▼❡❣✈✐③s❣✁❛❧✉♥❦ ♠✁❡❣ ❡❣② ♠✁♦❞s③❡rt✱ ❛♠❡❧② ❧❡❤❡t✆♦s✁❡❣❡t ❛❞ ❛ ❦✁❡t ❧✐♥❡✁❛r✐s ❡❣②❡♥✲

❧❡t❜✆♦❧ ✁❛❧❧✁♦ ❦✁❡t✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛t ✈✐s③s③❛✈❡③❡t♥✐ ❛③ ❡❣②✈✁❛❧t♦③✁♦s

❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t ♠❡❣♦❧❞✁❛s✁❛r❛✳❬✸❪ ▼❡❣♦❧❞❥✉❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡rt✿






2x− 5y = 7,

4x+ 5y = 5

▼✐✈❡❧ ❛ r❡♥❞s③❡r❜❡♥ ❛③ ② ❡❣②☎✉tt❤❛t✁♦✐ ❡❧❧❡♥❦❡③✆♦ ❡❧✆♦❥❡❧✆✉ s③✁❛♠♦❦✱ ❡③✁❡rt ❛❤❤♦③✱ ❤♦❣②

❡❣②✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t❡t ❦❛♣❥✉♥❦✱ ❡❧❡❣❡♥❞✆♦ t❛❣♦♥❦✁❡♥t ☎♦ss③❡❛❞♥✐ ❛③ ❡❣②❡♥❧❡t❡❦ ❥♦❜❜ ✁❡s

❜❛❧ ♦❧❞❛❧✁❛t✳ ❆ ❦☎♦✈❡t❦❡③✆♦t ❦❛♣❥✉❦✿❬✸❪

2x− 5y + 4x+ 5y = 7 + 5;

6x = 12

x = 2

❆③ ① ✁❡rt✁❡❦✁❡t ❛ r❡♥❞s③❡r ❜✁❛r♠❡❧②✐❦ ❡❣②❡♥❧❡t✁❡❜❡ ❜❡❤❡❧②❡tt❡s✁✙t❤❡t❥☎✉❦✳ ❍❡❧②❡tt❡s✁✙t❥☎✉❦

❜❡ ❛③ ❡❧s✆♦❜❡✳ ❊❦❦♦r✿

2 · 2− 5y = 7;

−5y = 3;

y = −0, 6

❚❡❤✁❛t ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛ ❛ (2;−0, 6) s③✁❛♠♣✁❛r✳❬✸❪

❆ ❧❡✁✙rt ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞♦t ❛③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡♥❡❦ ♥❡✈❡③③☎✉❦✳❬✸❪

❊③ ❛ ♠✁♦❞s③❡r ❛ ❦☎♦✈❡t❦❡③✆♦ ❦✐❥❡❧❡♥t✁❡s❡♥ ❛❧❛♣s③✐❦✿ ❤❛ ❛ r❡♥❞s③❡r ❡❣②✐❦ ❡❣②❡♥❧❡t✁❡t

❢❡❧❝s❡r✁❡❧❥☎✉❦ ❛③ ❡❣②❡♥❧❡t❡❦ ❥♦❜❜ ✁❡s ❜❛❧ ♦❧❞❛❧✁❛♥❛❦ ☎♦s③s③❡❛❞✁❛s❛ ✉t✁❛♥ ❦❛♣♦tt ❡❣②❡♥❧❡tt❡❧✱

❛❦❦♦r ❛③ ✁✙❣② ❧✁❡tr❡❥☎♦tt ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ✉❣②❛♥❛③♦❦ ❧❡s③♥❡❦ ❛ ♠❡❣♦❧❞✁❛s❛✐✱ ♠✐♥t ❛③

❡r❡❞❡t✐ r❡♥❞s③❡r♥❡❦ ✭❜✐③♦♥②✁✙t✁❛s ♥✁❡❧❦☎✉❧ ❢♦❣❛❞❥✉❦ ❡❧✮✳❬✸❪

▼❡❣♦❧❞✉♥❦ ♠✁❡❣ ❡❣② ❡❣②❡♥❧❡tr❡♥❞s③❡rt✿






2x− 3y = 11,

6x+ 5y = 19

✷✹



❍❛ t❛❣♦♥❦✁❡♥t ☎♦ss③❡❛❞❥✉❦ ❛③ ❡❣②❡♥❧❡t❡❦ ❥♦❜❜ ✁❡s ❜❛❧ ♦❧❞❛❧✁❛t✱ ❛❦❦♦r ✁✉❥❜✁♦❧ ❦✁❡t✈✁❛❧t♦③✁♦s

❡❣②❡♥❧❡t❡t ❦❛♣✉♥❦✳ ❆ ❦❛♣♦tt r❡♥❞s③❡r♥✁❡❧ ♠✁❡❣ ♥❡♠ ❛❧❦❛❧♠❛③❤❛t❥✉❦ ❛③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt✲

❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡t✳❬✸❪

❆③ ❡❧s✆♦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ♠❡❣s③♦r♦③③✉❦ −3✲♠❛❧✳ ❆ ❦☎♦✈❡t✲ ❦❡③✆♦ r❡♥❞s③❡rt

❦❛♣❥✉❦✿






−6x+ 9y = −33,

6x+ 5y = 19

♠❡❧②♥❡❦ ♠❡❣♦❧❞✁❛s❛✐ ❛③♦♥♦s❛❦ ❛③ ❡❧s✆♦ r❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✐✈❛❧✳ ❊rr❡ ❛ r❡♥❞s③❡rr❡ ♠✁❛r

❛❧❦❛❧♠❛s ❛③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r❡✿❬✸❪

−6x+ 9y + 6x+ 5y = −33 + 19;

14y = −14;

y = −1.

❆③ y ✁❡rt✁❡❦✁❡t ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ ❡r❡❞❡t✐ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❡❧s✆♦ ❡❣②❡♥❧❡t✁❡❜❡✿

2x− 3 · (−1) = 11;

2x = 8;

x = 4.

❆ (4;−1) s③✁❛♠♣✁❛r ❛ ❦❡r❡s❡tt ♠❡❣♦❧❞✁❛s✳❬✸❪

▼❡❣♦❧❞✉♥❦ ❡❣② ♦❧②❛♥ ❡❣②❡♥❧❡tr❡♥❞s③❡rt✱ ❛♠❡❧②❜❡♥ ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡t❡t ❡❧✆♦ ❦❡❧❧ ❦✁❡s③✁✙✲

t❡♥✐ ❛ ♠✁♦❞s③❡r ❛❧❦❛❧♠❛③✁❛s✁❛r❛✿






7x+ 8y = 9,

3x+ 5y = 7

❬✸❪ ❍♦❣② ♠❡❣s③❛❜❛❞✉❧❥✉♥❦ ❛③ y ✈✁❛❧t♦③✁♦t✁♦❧✱ ❛③ ❡❧s✆♦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ❜❡s③♦✲

r♦③③✉❦ 5✲t❡❧✱ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ♣❡❞✐❣ −8✲❝❛❧✱ ♠❛❥❞ ☎♦ss③❡❛❞❥✉❦ ❛③

❡❣②❡♥❧❡t❡❦❡t✿❬✸❪






35x+ 40y = 45

−24x− 40y = −56

35x+ 40y˘24x− 40y = 45− 56;

11x = −11;

x = −1.

✷✺



❇❡❤❡❧②❡tt❡s✁✙t✈❡ ❛③ x ✁❡rt✁❡❦✁❡t ❛③ ❡❧s✆♦ ❡❣②❡♥❧❡t❜❡✿

−7 + 8y = 9;

y = 2.

❚❡❤✁❛t ❛ (−1; 2) s③✁❛♠♣✁❛r ❛③ ❛❞♦tt ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✳❬✸❪

❍♦❣② ❛③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡✈❡❧ ♦❧❞❤❛ss✉❦ ♠❡❣ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞✲

s③❡rt✱ ❛ ❦☎♦✈❡t❦❡③✆♦ ❧✁❡♣✁❡s❡❦❡t ❦❡❧❧ ♠❡❣t❡♥♥☎✉♥❦✿❬✸❪

✶✳ ❦✐✈✁❛❧❛s③t✈❛ ❛ ♠❡❣❢❡❧❡❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦❛t✱ ✁❛t❛❧❛❦✁✙t❥✉❦ ❛③ ❡❣②✐❦✱ ❡s❡t❧❡❣ ♠✐♥❞❦✁❡t

❡❣②❡♥❧❡t❡t ✁✉❣②✱ ❤♦❣② ❛③ ❛③♦♥♦s ✈✁❛❧t♦③✁♦❦ ♠❡❧❧❡tt✐ ❡❣②☎✉tt❤❛t✁♦❦ ❡❧❧❡♥❦❡③✆♦ ❡❧✆♦❥❡❧✆✉❡❦

❧❡❣②❡♥❡❦❀

✷✳ t❛❣♦♥❦✁❡♥t ☎♦ss③❡❛❞❥✉❦ ❛③ ❡❧s✆♦ ❧✁❡♣✁❡s❜❡♥ ❦❛♣♦tt ❡❣②❡♥❧❡t❡❦ ❥♦❜❜ ✁❡s ❜❛❧ ♦❧❞❛❧✁❛t❀

✸✳ ♠❡❣♦❧❞❥✉❦ ❛ ♠✁❛s♦❞✐❦ ❧✁❡♣✁❡s❜❡♥ ❦❛♣♦tt ❡❣②✈✁❛❧t♦③✁♦s ❡❣②❡♥❧❡t❡t❀

✹✳ ❛ ❤❛r♠❛❞✐❦ ❧✁❡♣✁❡s❜❡♥ ❦❛♣♦tt ✁❡rt✁❡❦❡t ❜❡❤❡❧②❡tt❡s✁✙t❥☎✉❦ ❛③ ❡r❡❞❡t✐ r❡♥❞s③❡r ✈❛❧❛✲

♠❡❧②✐❦ ❡❣②❡♥❧❡t✁❡❜❡❀

✺✳ ❦✐s③✁❛♠✁✙t❥✉❦ ❛ ♠✁❛s✐❦ ✈✁❛❧t♦③✁♦ ✁❡rt✁❡❦✁❡t✳❬✸❪

▼❡❣✈✐③s❣✁❛❧✈❛ ❛ ❦✁❡t ❦☎♦♥②✈ ❡③❡♥ ❢❡❥❡③❡t❡✐t✱ ♠❡❧②❡❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐

♠✁♦❞s③❡r❡✐t ❞♦❧❣♦③③✁❛❦ ❢❡❧✱ ❡❧♠♦♥❞❤❛t❥✉❦✱ ❤♦❣② ❛③ ❆✳ ❍✳ ▼❡r③❧❥❛❦ ✁❛❧t❛❧ s③❡r❦❡s③t❡tt

t❛♥❦☎♦♥②✈ r✁❡s③❧❡t❡s❡❜❜❡♥ t❛❣❧❛❧❥❛ ❛ ♠✁♦❞s③❡r❡❦❡t✳ ❆③♦♥ ❦✁✙✈☎✉❧✱ ❤♦❣② ❢❡❧❛❞❛t♦❦♦♥✱

♣✁❡❧❞✁❛❦♦♥ ❦❡r❡s③t☎✉❧ s③❡♠❧✁❡❧t❡t✐ ❛ ❧✁❡♣✁❡s❡❦❡t✱ ❦☎✉❧☎♦♥ ♣♦♥t♦❦❜❛ s③❡❞✐ ♠✐♥❞❡♥ ♠✁♦❞s③❡r ❛❧✲

❣♦r✐t♠✉s✁❛t✳ ❱❛❧❛♠✐♥t ❡❜❜❡♥ ❛ ❦☎♦♥②✈❜❡♥ ❛ ❍✳P✳❇❡✈③ ✁❡s ❱✳❍✳❇❡✈③ ✁❛❧t❛❧ s③❡r❦❡s③t❡tt

t❛♥❦☎♦♥②✈✈❡❧ ❡❧❧❡♥t✁❡t❜❡♥ ❛ ♠❡❣♦❧❞✁❛s♦❦ s③✁❛♠✁❛r✁♦❧ ✐s ❦❛♣✉♥❦ ♠❡❣❤❛t✁❛r♦③✁❛st✱ ♠❡❧②❡❦

✐s♠❡r❡t❡ ❡❧❡♥❣❡❞❤❡t❡t❧❡♥ ❛ t✁❡♠❛❦☎♦r t❡❧❥❡s ♠❡❣✁❡rt✁❡s✁❡❤❡③✳

❆ t❛♥✉❧✁♦❦ t✉❞❛t✁❛❜❛ ✈❛❧✁♦ ❡❣②s③❡r✆✉❜❜ ❜❡r☎♦❣③✆♦❞✁❡s s③❡♠♣♦♥t❥✁❛❜✁♦❧ ❛③ ❆✳ ❍✳ ▼❡r③❧❥❛❦

❦✁❡s③✁✙t❡tt❡ t❛♥❦☎♦♥②✈ ♥❛❣②♦❜❜ s❡❣✁✙ts✁❡❣❡t ♥②✁✉❥t ❛ t❛♥✉❧✁♦❦♥❛❦ ✁❡s ❛ t❛♥✁❛r♦❦♥❛❦ ❡❣②❛r✁❛♥t✳

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ❛ ✾✳ ♦s③t✁❛❧② t❛♥❛♥②❛❣✁❛❜❛♥ ❦❡r☎✉❧

✐s♠✁❡t❧✁❡sr❡✳ ❆ t❛♥❦☎♦♥②✈❡❦ ♣✁❡❧❞✁❛❦♦♥ ❦❡r❡s③t☎✉❧ ✐s♠✁❡t❧✐❦ ♠❡❣ ❛ ♠✁♦❞s③❡r❡❦ ❧✁❡♥②❡❣✁❡t ✁❡s

❛❧❣♦r✐t♠✉s✁❛t✱ ✈✐s③♦♥t ♥❡♠ ❧✐♥❡✁❛r✐s✱ ❤❛♥❡♠ ♠✁❛s♦❞❢♦❦✁✉ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐

♠❡t✁♦❞✉s✁❛♥❛❦ ❡❧s❛❥✁❛t✁✙t✁❛s❛ ✈❛♥ ❡❧✆♦t✁❡r❜❡♥✳

✷✻



✸✳ ❢❡❥❡③❡t

▲✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦

♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ❛

❢❡❧s✆♦♦❦t❛t✁❛s❜❛♥

❆ ❢❡❧s☎♦♦❦t❛t✁❛s❜❛♥ ❛ ❞✐✁❛❦♦❦ ✁✉❥ ♠✁♦❞s③❡r❡❦❦❡❧ ✐s♠❡r❦❡❞♥❡❦ ♠❡❣ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t✲

r❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✁❛r❛✳ ▼♦st ❡③❡❦❡t ❛ ♠✁♦❞s③❡r❡❦❡t t❡❦✐♥t❥☎✉❦ ✁❛t r✁❡s③❧❡t❡s❡❜❜❡♥✳

●❛✉ss✲♠✁♦❞s③❡r

a11x1 + a12x2 + a13x3 + · · ·+ a1nxn = b1

a21x1 + a22x2 + a23x3 + · · ·+ a2nxn = b2

· · ·

ai1x1 + ai2x2 + ai3x3 + · · ·+ ainxn = bi

· · ·

as1x1 + as2x2 + as3x3 + · · ·+ asnxn = bs

✭✸✳✶✮

❆③ ❛❧✁❛❜❜✐❛❦❜❛♥ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s❛✐♥❛❦ ❡❧♠✁❡❧❡t✁❡✈❡❧ ✁❡s ❛ ♠❡❣♦❧❞✁❛s♦❦

❣②❛❦♦r❧❛t✐ ♠❡❣❦❡r❡s✁❡s✁❡✈❡❧ ❢♦❣❧❛❧❦♦③✉♥❦✳ ❑❡③❞❥☎✉❦ ❛ ❧❡❣❡❣②s③❡r✆✉❜❜ ♠✁♦❞s③❡rr❡❧✱ ❛③

✁✉❣②♥❡✈❡③❡tt ✐s♠❡r❡t❧❡♥❡❦ ❦✐❦☎✉s③☎♦❜☎♦❧✁❡s✁❡✈❡❧✳❬✻❪

❆ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❦☎♦✈❡t❦❡③✆♦ ✁❛t❛❧❛❦✁✙t✁❛s✁❛t ❡❧❡♠✐ ✁❛t❛❧❛❦✁✙t✁❛s♥❛❦ s③♦❦✁❛s ♥❡✈❡③♥✐✿❬✻❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ✈❛❧❛♠❡❧② ❡❣②❡♥❧❡t✁❡♥❡❦ ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ✉❣②❛♥❛③♦♥ s③✁❛♠♠❛❧

♠❡❣s③♦r♦③✈❛✱ ❛ ❦❛♣♦tt ❡❣②❡♥❧❡t❡t ❦✐✈♦♥❥✉❦ ✈❛❣② ❤♦③③✁❛❛❞❥✉❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ✈❛✲

❧❛♠❡❧② ♠✁❛s✐❦ ❡❣②❡♥❧❡t✁❡♥❡❦ ❛ ♠❡❣❢❡❧❡❧✆♦ ♦❧❞❛❧❛✐❤♦③✳❬✻❪

❆ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡♥ ✈✁❡❣③❡tt ✈✁❡❣❡s s♦❦ ❡❧❡♠✐ ✁❛t❛❧❛❦✁✙t✁❛s ✉t✁❛♥ ❦❛♣♦tt ✁✉❥ ❡❣②❡♥✲

✷✼



❧❡tr❡♥❞s③❡rr❡ ❛③t ♠♦♥❞❥✉❦✱ ❤♦❣② ❡❦✈✐✈❛❧❡♥s ✭❛③❛③ ❡❣②❡♥✁❡rt✁❡❦✆✉✮ ❛ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞✲

s③❡rr❡❧✳ ❊③ ❛❧❛tt ❛③t ✁❡rt❥☎✉❦✱ ❤♦❣② ♠✐♥❞❦✁❡t ❡❣②❡♥❧❡tr❡♥❞s③❡rr❡ ✐❣❛③✱ ❤♦❣②✿ ✈❛❣② ♠✐♥❞✲

❦❡tt✆♦ ❡❧❧❡♥t♠♦♥❞✁♦✱ ✈❛❣② ♠✐♥❞❦❡tt✆♦ ♠❡❣♦❧❞❤❛t✁♦✱ ✁❡s ❛ ♠❡❣♦❧❞✁❛s❛✐❦ ✉❣②❛♥❛③♦❦✳❬✻❪

❑❡③❞❥☎✉❦ ❛ ●❛✉ss ♠✁♦❞s③❡r ✐s♠❡rt❡t✁❡s✁❡t✳ ❆❞✈❛ ✈❛♥ ❛ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r ✁❡s ❧❡✲

❣②❡♥ a11 ❡❣②☎✉tt❤❛t✁♦ ♥❡♠ ♥✉❧❧❛ ✭❡❧❧❡♥❦❡③✆♦ ❡s❡t❜❡♥ ❡❣② ♠✁❛s✐❦✱ ♥✉❧❧✁❛t✁♦❧ ❦☎✉❧☎♦♥❜☎♦③✆♦

❡❣②☎✉tt❤❛t✁♦✈❛❧ ❦❡❧❧ ❦❡③❞❡♥☎✉♥❦ ❛③ ❡❧s✆♦ s♦r❜✁♦❧✱ ❡③ ❛③ ✐s♠❡r❡t❧❡♥❡❦ ✁❛ts③✁❛♠♦③✁❛s✁❛✈❛❧ ♠✐♥✲

❞✐❣ ❡❧✁❡r❤❡t✆♦✮✳❬✻❪

1. ❧✁❡♣✁❡s✿ ❆❧❛❦✁✙ts✉❦ ✁❛t ❛ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞s③❡rt✱ ❦✐❦☎✉s③☎♦❜☎♦❧✈❡ ❛③ x1 ✐s♠❡r❡t❧❡♥t ✈❛✲

❧❛♠❡♥♥②✐ ❡❣②❡♥❧❡t❜✆♦❧✱ ❦✐✈✁❡✈❡ ❛③ ❡❧s✆♦t✳ ❊③ ❛❧❛tt ❛③t ✁❡rt❥☎✉❦✱ ❤♦❣② ❛③ ❡❧s✆♦ ❡❣②❡♥❧❡t

♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ❛③ a21
a11

s③✁❛♠♠❛❧ ♠❡❣s③♦r♦③✈❛✱ ❦✐✈♦♥❥✉❦ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t ♠❡❣❢❡✲

❧❡❧✆♦ ♦❧❞❛❧✁❛❜✁♦❧✱ ♠❛❥❞ ❡③t ❦☎♦✈❡t✆♦❡♥ ❛③ ❡❧s✆♦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ❛③ a31
a11

s③✁❛♠♠❛❧

♠❡❣s③♦r♦③✈❛✱ ❦✐✈♦♥❥✉❦ ❛ ❤❛r♠❛❞✐❦ ❡❣②❡♥❧❡t ♠❡❣❢❡❧❡❧✆♦ ♦❧❞❛❧✁❛❜✁♦❧✳ ✁■❣② t♦✈✁❛❜❜ ❤❛❧❛❞✈❛

❡❣② ✁✉❥✱ ❛③ ❛❞♦tt❛❧ ❡❦✈✐✈❛❧❡♥s ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❦❛♣✉♥❦✿❬✻❪

a11x1 + a12x2 + a13x3 + · · ·+ a1nxn = b1

a
(1)
22 x2 + a

(1)
23 x3 + · · ·+ a

(1)
2nxn = b

(1)
2

a
(1)
32 x2 + a

(1)
33 x3 + · · ·+ a

(1)
3nxn = b

(1)
3

· · ·

a
(1)
s2 x2 + a

(1)
s3 x3 + · · ·+ a

(1)
sn xn = b

(1)
s

✭✸✳✷✮

❆③ ✁✉❥ ✭✸✳✷✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r a(1)ij ❡❣②☎✉tt❤❛t✁♦✐♥❛❦ ✁❡s bk s③❛❜❛❞ t❛❣❥❛✐♥❛❦ ❛ ❦✐s③✁❛♠✁✙t✁❛s❛

❦☎♦♥♥②❡♥ ❡❧✈✁❡❣❡③❤❡t✆♦✱ ❞❡ ❛③ ❡❧♠✁❡❧❡t s③❡♠♣♦♥t❥✁❛❜✁♦❧ s③✁❛♠✉♥❦r❛ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r

❛❧❛❦❥❛ ❢♦♥t♦s✳ ▲❡❤❡ts✁❡❣❡s✱ ❤♦❣② ❛ ✭✸✳✷✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r ✈❛❧❛♠❡❧② ❡❣②❡♥❧❡t✁❡♥❡❦ ❜❛❧

♦❧❞❛❧✁❛♥ ♠✐♥❞❡♥ ❡❣②☎✉tt❤❛t✁♦ ♥✉❧❧❛✳ ❍❛ ❡♥♥❡❦ ❛③ ❡❣②❡♥❧❡t♥❡❦ ❛ s③❛❜❛❞ t❛❣❥❛ ♥❡♠ ♥✉❧❧❛✱

❛❦❦♦r ❛③ ❡❧❧❡♥t♠♦♥❞✁❛s✱ t❡❤✁❛t ❛ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✳ ❊❧❧❡♥❦❡③✆♦

❡s❡t❜❡♥✱ ❤❛ ❡♥♥❡❦ ❛③ ❡❣②❡♥❧❡t♥❡❦ ❛ s③❛❜❛❞ t❛❣❥❛ ✐s ♥✉❧❧❛✱ ❛❦❦♦r ❡③t ❛③ ❡❣②❡♥❧❡t❡t ❛③

✐s♠❡r❡t❧❡♥❡❦ ❜✁❛r♠❡❧② ✁❡rt✁❡❦❡ ❦✐❡❧✁❡❣✁✙t✐✱ s ❡③✁❡rt ❛③ ❡❣②❡♥❧❡t❡t ❛ r❡♥❞s③❡r❜✆♦❧ ❡❧❤❛❣②✈❛✱

❛③ ❡r❡❞❡t✐✈❡❧ ❡❦✈✐✈❛❧❡♥s r❡♥❞s③❡rt ♥②❡r☎✉♥❦ ✁❡s ❛③ ❡❧❥✁❛r✁❛st t♦✈✁❛❜❜ ❢♦❧②t❛t❥✉❦✳❬✻❪

2. ❧✁❡♣✁❡s✳ ❆❧❛❦✁✙ts✉❦ ✁❛t ❛ ✭✸✳✷✮ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ✈✁❛❧t♦③❛t❧❛♥✉❧ ❤❛❣②✈❛ ❛③ ❡❧s✆♦ ✁❡s ❛

♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t❡t✱ ❦✐❦☎✉s③☎♦❜☎♦❧✈❡ ❛③ x2 ✐s♠❡r❡t❧❡♥t✱ ❛ ❤❛r♠❛❞✐❦ ❡❣②❡♥❧❡tt✆♦❧ ❦❡③❞✲

✈❡ ❛③ a
(1)
22 6= 0 ❢❡❧t✁❡t❡❧ ♠❡❧❧❡tt ✭❡❧❧❡♥❦❡③✆♦ ❡s❡t❜❡♥ ❡❣② ♠✁❛s✐❦ ♥✉❧❧✁❛t✁♦❧ ❦☎✉❧☎♦♥❜☎♦③✆♦

❡❣②☎✉tt❤❛t✁♦✈❛❧ ❦❡❧❧ ❦❡③❞❡♥☎✉♥❦ ❛ ♠✁❛s♦❞✐❦ s♦r❜✁♦❧✮❀ ❛③❛③ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t

♦❧❞❛❧✁❛t ❛③ a
(1)
32

a
(1)
22

s③✁❛♠♠❛❧ ♠❡❣s③♦r♦③✈❛ ❦✐✈♦♥❥✉❦ ❛ ❤❛r♠❛❞✐❦ ❡❣②❡♥❧❡t ♠❡❣❢❡❧❡❧✆♦ ♦❧❞❛✲

❧❛✐r✁♦❧❀ ♠❛❥❞ ❛ ♠✁❛s♦❞✐❦ ❡❣②❡♥❧❡t ♠✐♥❞❦✁❡t ♦❧❞❛❧✁❛t ❛③ a
(1)
42

a
(1)
22

s③✁❛♠♠❛❧ ♠❡❣s③♦r♦③✈❛ ❦✐✲

✷✽



✈♦♥❥✉❦ ❛ ♥❡❣②❡❞✐❦ ❡❣②❡♥❧❡t ♠❡❣❢❡❧❡❧✆♦ ♦❧❞❛❧❛✐❜✁♦❧✱ ✁❡s ✁✙❣② t♦✈✁❛❜❜✳ ❊❣② ✁✉❥✱ ❛③ ❡❧✆♦❜❜✐✈❡❧

❡❦✈✐✈❛❧❡♥s ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❦❛♣✉♥❦✿❬✻❪

a11x1 + a12x2 + a13x3 + · · ·+ a1nxn = b1

a
(1)
22 x2 + a

(1)
23 x3 + · · ·+ a

(1)
2nxn = b

(1)
2

a
(2)
33 x3 + · · ·+ a

(2)
3nxn = b

(2)
3

· · ·

a
(2)
l3 x3 + · · ·+ a

(2)
ln xn = b

(2)
l

✭✸✳✸✮

❍❛ ✈❛❧❛♠❡❧② ❡❣②❡♥❧❡t ❜❛❧ ♦❧❞❛❧✁❛♥ ♠✐♥❞❡♥ ❡❣②☎✉tt❤❛t✁♦ ♥✉❧❧❛ ✁❡s ❛ s③❛❜❛❞ t❛❣ ♥❡♠

♥✉❧❧❛✱ ❛❦❦♦r ❡③ ❡❧❧❡♥t♠♦♥❞✁❛s✱ ✁❡s ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✳ ❊❧❧❡♥❦❡③✆♦

❡s❡t❜❡♥ ❢♦❧②t❛t❥✉❦ ❛③ ❡❧❥✁❛r✁❛st✱ ❡❧❤❛❣②✈❛ ❛③♦❦❛t ❛③ ❡❣②❡♥❧❡t❡❦❡t ❛ r❡♥❞s③❡r❜✆♦❧✱ ❛♠❡✲

❧②❡❦ ❡❣②☎✉tt❤❛t✁♦✐ ♥✉❧❧✁❛✈❛❧ ❡❣②❡♥❧✆♦❦ ✁❡s s③❛❜❛❞ t❛❣❥✉❦ ✐s ♥✉❧❧❛✳❬✻❪ ❱✁❡❣❡s s♦❦ ❦ ❧✁❡♣✁❡s

✉t✁❛♥ ❛ ✭✸✳✶✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rr❡❧ ❡❦✈✐✈❛❧❡♥s✿❬✻❪

a11x1 + a12x2 + · · ·+ a1k−1xk−1 + a1kxk · · ·+ a1nxn = b1

a
(1)
22 x2 + · · ·+ a

(1)
2k−1xk−1 + a

(1)
2k xk + · · ·+ a

(1)
2nxn = b

(1)
2

· · ·

a
(k−1)
kk xk + · · ·+ a

(k−1)
kn xn = b

(k−1)
k

✭✸✳✹✮

▲❡❤❡ts✁❡❣❡s✱ ❤♦❣② ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❝s❛❦ k (k ≤ s) ❡❣②❡♥❧❡t❡t t❛rt❛❧♠❛③✱ ♠✐✈❡❧

❡❣②❡s ❡❣②❡♥❧❡t❡❦❡t ❡❧ ❦❡❧❧❡tt ❤❛❣②♥✐❀ t♦✈✁❛❜❜✁❛ ❛ k✲❛❞✐❦ ❡❣②❡♥❧❡t ❜❛❧ ♦❧❞❛❧✁❛♥ ♠✐♥❞❡♥

❡❣②☎✉tt❤❛t✁♦ ♥✉❧❧❛✱ ❞❡ ❛ b
(k−1)
k s③❛❜❛❞ t❛❣ ♥❡♠ ♥✉❧❧❛✱ ❛❦❦♦r ❛ ✭✸✳✹✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r

❡❧❧❡♥t♠♦♥❞✁♦✱ t❡❤✁❛t ❛ (3.1) ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ♥✐♥❝s ♠❡❣♦❧❞✁❛s❛✳ ❊❧❧❡♥❦❡③✆♦ ❡s❡t❜❡♥

❛③

a11, a
1
22, a

2
33 . . . , a

(k−2)
k−1k−1, a

(k−1)
kk

❡❣②☎✉tt❤❛t✁♦❦ ♥✉❧❧✁❛t✁♦❧ ❦☎✉❧☎♦♥❜☎♦③✆♦❦ ✁❡s k ≤ n✳ ❑✁❡t ❡s❡t ❧❡❤❡ts✁❡❣❡s✿❬✻❪

1. ❆ ✭✸✳✹✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❛❧❛❦❥❛✿

a11x1 + a12x2 + · · ·+ a1n−1xn−1 + a1nxn = b1

a
(1)
22 x2 + · · ·+ a

(1)
2n−1xn−1 + a

(1)
2nxn = b

(1)
2

· · ·

a
(k−2)
k−1n−1xn−1 + a

(k−2)
k−1nxn = b

(k−2)
k−1

a
(k−1)
kn xn = b

(k−1)
k

✭✸✳✺✮

▼✐✈❡❧ a(k−1)
kn 6= 0✱ t❡❤✁❛t xk =

b
(k−1)
k

a
(k−1)
kn

✁❡s ❡③ ❛③ ✉t♦❧s✁♦ ❡❣②❡♥❧❡t ♠❡❣♦❧❞✁❛s❛✳ ❊③t ❜❡✲

❤❡❧②❡tt❡s✁✙t✈❡ ❛③ ✉t♦❧s✁♦ ❡❧✆♦tt✐ ❡❣②❡♥❧❡t❜❡✱ ✐♥♥❡♥ ❛③ xk−1✲❡t ❡❣②✁❡rt❡❧♠✆✉❡♥ ❤❛t✁❛r♦③③✉❦

✷✾



♠❡❣✳ ❋♦❧②t❛t✈❛ ❡③t ❛③ ❡❧❥✁❛r✁❛st✱ ❢❡❧❢❡❧✁❡ ❤❛❧❛❞✈❛✱ ❧✁❛t❥✉❦✱ ❤♦❣② ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦

❡❣②❡t❧❡♥ ♠❡❣♦❧❞✁❛s❛ ✈❛♥✳❬✻❪

2. ❆③ n > k ✁❡s ✭✸✳✹✮ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❛❧❛❦❥❛✿

a11x1 + a1k−1xk−1 + a1kxk = b1 − ak+1xk+1 − · · · − a1nxn

a
(1)
22 x2 + · · ·+ a

(1)
2k−1xk−1 + a

(1)
2k xk = b

(1)
2 − a

(1)
2k+1xk+1 − · · · − a

(1)
2nxn

· · ·

a
(k−1)
kk xk = b

(k−1)
k − a

(k−1)
kk+1 xk+1 − · · · − a

(k−1)
kn xn

✭✸✳✻✮

❆③ xk+1, xk+2, . . . , xn ✐s♠❡r❡t❧❡♥❡❦ ♠♦st ➼s③❛❜❛❞✑ ✐s♠❡r❡t❧❡♥❡❦ ✁❡s t❡ts③✆♦❧❡❣❡s s③✁❛♠✲

✁❡rt✁❡❦❡❦❡t ✈❡❤❡t♥❡❦ ❢❡❧✳ P✁❡❧❞✁❛✉❧✱ ❤❛

xk+1 = αk+1, xk+2 = αk+2, . . . , xn = αn

❛❦❦♦r ❛③ ✉t♦❧s✁♦ ❡❣②❡♥❧❡t❜✆♦❧ ❡❣②✁❡rt❡❧♠✆✉❡♥ ❤❛t✁❛r♦③③✉❦ ♠❡❣ ❛③ xk ✐s♠❡r❡t❧❡♥t✿

xk =
b
(k−1)
k

a
(k−1)
kk

−
a
(k−1)
kk+1

a
(k−1)
kk

αk+1 − · · · −
a
(k−1)
kn

a
(k−1)
kk

αn

❇❡❤❡❧②❡tt❡s✁✙t✈❡ ❛③ ✉t♦❧s✁♦ ❡❧✆♦tt✐ ❡❣②❡♥❧❡t❜❡ ❛③ xk, xk+1, . . . , xn ✁❡rt✁❡❦❡✐t✱ ❛③ xk−1✲❡t

❡❣②✁❡rt❡❧♠✆✉❡♥ ❤❛t✁❛r♦③③✉❦ ♠❡❣✳ ❯❣②❛♥✁✙❣② t♦✈✁❛❜❜ ❢♦❧②t❛t✈❛✱ ❢❡❧❢❡❧✁❡ ❤❛❧❛❞✈❛✱ ❤❛t✁❛r♦③③✉❦

♠❡❣ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛t✳ ▼✐✈❡❧ ❛ s③❛❜❛❞ ✐s♠❡r❡t❧❡♥❡❦ ✁❡rt✁❡❦❡✐t ✈✁❡❣t❡❧❡♥

s♦❦ ❦☎✉❧☎♦♥❜☎♦③✆♦ ♠✁♦❞♦♥ ✈✁❛❧❛s③t❤❛t❥✉❦ ♠❡❣✱ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r♥❡❦ ✈✁❡❣t❡❧❡♥ s♦❦ ♠❡❣✲

♦❧❞✁❛s❛ ✈❛♥✳❬✻❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ●❛✉ss✲♠✁♦❞s③❡rr❡❧ t☎♦rt✁❡♥✆♦ ♠❡❣♦❧❞✁❛s❛ ♥❡♠ ♠✁❛s✱ ♠✐♥t ❛③ ❡❣②❡♥✲

❧❡tr❡♥❞s③❡r❡♥ ❡❣② s♦r♦③❛t ✁✉❣②♥❡✈❡③❡tt ❡❧❡♠✐ ✁❛t❛❧❛❦✁✙t✁❛s ✈✁❡❣r❡❤❛❥t✁❛s❛✳❬✻❪

❆③ ❡❣②s③❡r✆✉s✁❡❣ ❝✁❡❧❥✁❛❜✁♦❧ ❛ ❣②❛❦♦r❧❛t❜❛♥ ❢❡❧✁✙r❥✉❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠✁❛tr✐①✁❛t✱ ❝s❛t♦❧✲

❥✉❦ ❤♦③③✁❛ ❛ s③❛❜❛❞ t❛❣♦❦ ♦s③❧♦♣✁❛t✱ ✁❡s ❛③ ☎♦ss③❡s ❡❧❡♠✐ ✁❛t❛❧❛❦✁✙t✁❛st ❛ ❜✆♦✈✁✙t❡tt ♠✁❛tr✐①

s♦r❛✐♥ ✈✁❡❣❡③③☎✉❦ ❡❧✳❬✻❪

❆③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ●❛✉ss✲♠✁♦❞s③❡rr❡❧ t☎♦rt✁❡♥✆♦ ♠❡❣♦❧❞✁❛s❛ r❡♥❞❦✁✙✈☎✉❧ ❡❣②s③❡r✆✉✳ ▼✐✈❡❧

❛③♦♥♦s t✁✙♣✉s✁✉ s③✁❛♠✁✙t✁❛s♦❦❛t ✈✁❡❣③☎✉♥❦✱ ❡③✁❡rt ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛r❛ s③✁❛✲

♠✁✙t✁♦❣✁❡♣ ✐s ❛❧❦❛❧♠❛③❤❛t✁♦✳ ❊❧♠✁❡❧❡t✐ s③❡♠♣♦♥t❜✁♦❧ ❡ ♠✁♦❞s③❡r♥❡❦ s♦❦ ❛ ❤✐✁❛♥②♦ss✁❛❣❛✱

♥❡♠ ❛❞ ✈✁❛❧❛s③t ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✐ ❢❡❧t✁❡t❡❧✁❡♥❡❦ ❛ ♠❡❣❢♦❣❛❧♠❛③✁❛s✁❛r❛ ❛③

❡❣②☎✉tt❤❛t✁♦❦ ✁❡s s③❛❜❛❞ t❛❣♦❦ s❡❣✁✙ts✁❡❣✁❡✈❡❧✱ ❛♠✐ ♥✁❡❧❦☎✉❧☎♦③❤❡t❡t❧❡♥ ❛③ ❡❧♠✁❡❧❡t✐ ✈✐③s❣✁❛❧❛✲

t♦❦❜❛♥✳ ❆③ ❛❧✁❛❜❜✐❛❦❜❛♥ ❡rr❡ ❛ ❦✁❡r❞✁❡sr❡ ❛❞✉♥❦ ✈✁❛❧❛s③t ✁❡s ❦✁❡♣❧❡t❡t ✈❡③❡t☎✉♥❦ ❜❡ ❛③

❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛r❛✳❬✻❪

✸✵



❈r❛♠❡r✲s③❛❜✁❛❧②

❑❡③❞❥☎✉❦ ❛ ✈✐③s❣✁❛❧❛t♦t ❛ ❦✁❡t ❡❣②❡♥❧❡t❜✆♦❧ ✁❛❧❧✁♦ ❦✁❡t✐s♠❡r❡t❧❡♥❡s ❡❣②❡♥❧❡tr❡♥❞s③❡r✲

r❡❧✿❬✻❪

a11x1 + a12x2 = b1,

a21x1 + a22x2 = b2.
✭✸✳✼✮

❆③ ✐s♠❡r❡t❧❡♥❡❦ ❡❣②☎✉tt❤❛t✁♦✐❜✁♦❧ s③❡r❦❡s③t❡tt




a11 a12

a21 a22





♠✁❛tr✐①❤♦③ r❡♥❞❡❧❥☎✉❦ ❤♦③③✁❛ ❛③t ❛ s③✁❛♠♦t✱ ❛♠❡❧② ❡❣②❡♥❧✆♦ ❛ ♠✁❛tr✐① ❢✆♦✁❛t❧✁♦❥✁❛❜❛♥ ❧❡✈✆♦

s③✁❛♠♦❦ s③♦r③❛t✁❛♥❛❦ ✁❡s ❛ ♠❡❧❧✁❡❦✁❛t❧✁♦❥✁❛❜❛♥ ❧❡✈✆♦ s③✁❛♠♦❦ s③♦r③❛t✁❛♥❛❦ ❛ ❦☎✉❧☎♦♥❜s✁❡❣✁❡✈❡❧✳

❊③t ❛ s③✁❛♠♦t ❛ ♠✁❛tr✐① ❞❡t❡r♠✐♥✁❛♥s✁❛♥❛❦ ♥❡✈❡③③☎✉❦✱ s ❡rr❡ ❛
∣

∣

∣

∣

∣

∣

a11 a12

a21 a22

∣

∣

∣

∣

∣

∣

= a11a22 − a12a21

❥❡❧☎♦❧✁❡st ❤❛s③♥✁❛❧❥✉❦✳❬✻❪

❆ ✭✸✳✼✮✲r❡ ❛❧❦❛❧♠❛③③✉❦ ❛③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡t✿

(a11a22 − a12a21)x1 = a22b1 − a12b2,

(a11a22 − a12a21)x2 = a22b2 − a21b1.

■♥♥❡♥ ❛ ❞❡t❡r♠✐♥✁❛♥s s❡❣✁✙ts✁❡❣✁❡✈❡❧ ❦✐❢❡❥❡③❤❡t✆♦ ❛③ x1 ✁❡s x2✱ ❤❛ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r

♠✁❛tr✐①✁❛♥❛❦ ❛ ❞❡t❡r♠✐♥✁❛♥s❛ ♥✉❧❧✁❛t✁♦❧ ❦☎✉❧☎♦♥❜☎♦③✆♦✿

x1 =

∣

∣

∣

∣

∣

∣

b1 a12

b2 a22

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a11 a12

a21 a22

∣

∣

∣

∣

∣

∣

, x2 =

∣

∣

∣

∣

∣

∣

a11 b1

a21 b2

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a11 a12

a21 a22

∣

∣

∣

∣

∣

∣

❊③ ❛③ ✁✉❣②♥❡✈❡③❡tt ❈r❛♠❡r✲s③❛❜✁❛❧② ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r ♠❡❣♦❧❞✁❛s✁❛r❛✳❬✻❪

✸✶



✹✳ ❢❡❥❡③❡t

❙❛❥✁❛t ❡r❡❞♠✁❡♥②❡❦

❆③ ❡❧✈✁❡❣③❡tt ❦✉t❛t✁❛s♦♠ ❛rr❛ ✐r✁❛♥②✉❧t✱ ❤♦❣② ❛③ ✁❛❧t❛❧✁❛♥♦s ✐s❦♦❧✁❛❦ ✈✁❡❣③✆♦s ❞✐✁❛❦❥❛✐ ❦☎♦r✁❡✲

❜❡♥ ❢❡❧❛❞❛t♦❦ s❡❣✁✙rs✁❡❣✁❡✈❡❧ ❢❡❧♠✁❡r❥❡♠✱ ♠✐❧②❡♥ s③✐♥t❡♥ s❛❥✁❛t✁✙t♦tt✁❛❦ ❡❧ ❛③ ❡❣②❡♥❧❡tr❡♥❞✲

s③❡r❡❦ ✸ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r✁❡♥❡❦ ❛❧❣♦r✐t♠✉s✁❛t✱ ✈❛❧❛♠✐♥t ♠❡❧②✐❦ ♠✁♦❞s③❡r ❛③ ❛♠❡❧②✐❦❡t

❧❡❣s③✁✙✈❡s❡❜❜❡♥ ❛❧❦❛❧♠❛③③✁❛❦✱ ❤❛ ❧❡❤❡t✆♦s✁❡❣☎✉❦ ❛❞✁♦❞✐❦ ✈✁❛❧❛s③t❛♥✐ ❛ ♠❡❣♦❧❞✁❛s✐ ❛❧❣♦r✐t✲

♠✉s♦❦ ❦☎♦③☎♦tt✳

❆ ✾✳ ♦s③t✁❛❧② t❛♥✉❧✁♦✐♥❛❦ ❛ ❦☎♦✈❡t❦❡③✆♦ ❢❡❧❛❞❛t❧❛♣♦t ❦❡❧❧❡tt ♠❡❣♦❧❞❛♥✐✿

✸✷



❋❡❧❛❞❛t❧❛♣

✶✳ ❖❧❞ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❣r❛✜❦✉s ♠✁♦❞s③❡r ❛❧❦❛❧♠❛③✁❛s✁❛✈❛❧✦







2y − 4x = 8,

5y + 7x = 3

✷✳ ❖❧❞ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r ❛❧❦❛❧✲

♠❛③✁❛s✁❛✈❛❧✦






x− 10y = 5,

3y + 2x = 10

✸✳ ❖❧❞ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡♥❡❦

❛❧❦❛❧♠❛③✁❛s✁❛✈❛❧✦






5x− 6y = 15,

4x+ 6y = 12

✹✳ ❖❧❞ ♠❡❣ ❛③ ❛❧✁❛❜❜✐ ❡❣②❡♥❧❡tr❡♥❞s③❡rt ❛③ ❡❧✆♦③✆♦ ✸ ♠✁♦❞s③❡r ❡❣②✐❦✁❡✈❡❧✦







3x− 9y = 12,

x+ 3y = 4
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❆ t❛♥✉❧✁♦❦ ♠✉♥❦✁❛✐♥❛❦ ❡❧❧❡♥✆♦r③✁❡s❡ ✁❡s ☎♦ss③❡❣③✁❡s❡ ✉t✁❛♥ ❛ ❦☎♦✈❡t❦❡③✆♦❦❡t ❧❡❤❡t

♠❡❣✁❛❧❧❛♣✁✙t❛♥✐✿

❆ t❛♥✉❧✁♦❦ t☎♦❜❜s✁❡❣❡ ♠✐♥❞❡♥ ♠✁♦❞s③❡rt ✐s♠❡rt✱ ✈✐s③♦♥t ❛ ❧❡❣❦❡✈❡s❡❜❜ ❤✐❜✁❛t ❛ ❜❡❤❡❧②❡t✲

t❡s✁✙t✆♦ ♠✁♦❞s③❡r ❛❧❦❛❧♠❛③✁❛s❛❦♦r ❦☎♦✈❡tt✁❡❦ ❡❧✳ ❆ ❤✐❜✁❛❦ ❥❡❧❧❡❣❡ ❛③♦♥❜❛♥ ♥❡♠ ❛ ♠✁♦❞s③❡r

✐s♠❡r❡t✁❡♥❡❦ ❤✐✁❛♥②✁❛t ❜✐③♦♥②✁✙t❥❛✱ ♠✐✈❡❧ ❝s❛❦ s③✁❛♠✁✙t✁❛s✐ ❤✐❜✁❛t ✈✁❡t❡tt❡❦✳

❆ ❣r❛✜❦✉s ♠✁♦❞s③❡r ❛❧❦❛❧♠❛③✁❛s✁❛♥✁❛❧ ❛ ❧❡❣❣②❛❦♦r✐❜❜ ❤✐❜❛✁❛t ❛③ ① ✁❡s ② ♣♦♥t ❦♦♦r✲

❞✐♥✁❛t✁❛✐♥❛❦ ❧❡♦❧✈❛s✁❛s❛❦♦r ❦☎♦✈❡tt✁❡❦ ❡❧✳ ❋❡❧❝s❡r✁❡❧t✁❡❦ ❛③ ① ✁❡s ② ✐s♠❡r❡t❧❡♥❡❦♥❡❦ ♠❡❣❢❡❧❡❧✆♦

✁❡rt✁❡❦❡❦❡t✳ ❆ ♠✁❛s♦❞✐❦ ❧❡❣❣②❛❦♦r✐❜❜ ❤✐❜✁❛t ❡③❡♥ ♠✁♦❞s③❡r ❛❧❦❛❧♠❛③✁❛s✁❛♥✁❛❧ ❛③ ❡❣②❡♥❧❡t❡❦

❣r❛✜❦♦♥❥❛✐♥❛❦ ♠❡❣r❛❥③♦❧✁❛s❛❦♦r ✈✁❡t❡tt✁❡❦✳

❆③ ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r✁❡♥❡❦ ❛❧❦❛❧♠❛③✁❛s❛❦♦r ❛ t❛♥✉❧✁♦❦ ❛ s③✁❛♠✁✙t✁❛s♦❦ s♦r✁❛♥

t✁❡✈❡❞t❡❦✱ ✈❛❧❛♠✐t ♦❧②❛♥ ❡s❡t ❢♦r❞✉❧t ❡❧✆♦✱ ❤♦❣② ❛ t❛♥✉❧✁♦♥❛❦ ♥❡♠ ❥✉t♦tt ❡s③✁❡❜❡ ❛

♠✁♦❞s③❡r ❛❧❣♦r✐t♠✉s❛✳

❆♠❡♥♥②✐❜❡♥ ❛ t❛♥✉❧✁♦r❛ ✈❛♥ ❜✁✙③✈❛ ❛ ❞☎♦♥t✁❡s ❛ ♠✁♦❞s③❡r ❦✐✈✁❛❧❛s③t✁❛s✁❛♥✁❛❧✱ ❛ ❧❡❣t☎♦❜❜❡♥

❛ ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡rt ❛❧❦❛❧♠❛③t✁❛❦✱ ❛ ♠✁❛s♦❞✐❦ ❤❡❧②❡♥ ❛ ✈✁❛❧❛s③t✁❛s♥✁❛❧ ❛③ ❡❣②❡♥❧✆♦

❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r❡ s③❡r❡♣❡❧ ✁❡s ❛ ❧❡❣❦❡✈❡s❡❜❜❡♥ ❛ ❣r❛✜❦✉s ♠✁♦❞s③❡rt ✈✁❛❧❛s③t♦tt✁❛❦✳

❊③ ❛③③❛❧ ♠❛❣②❛r✁❛③❤❛t✁♦✱ ❤♦❣② ❛ t❛♥✉❧✁♦❦ ♥❡♠ t✁✉❧ ♠❛❣❛❜✐③t♦s❛❦ ❛ ❣r❛✜❦✉s ♠✁♦❞s③❡r ❛❧✲

❦❛❧♠❛③✁❛s❛❦♦r✱ ✐❧❧❡t✈❡ t✉❞❥✁❛❦✱ ❤♦❣② ❛ ♠✁♦❞s③❡r ♥❡♠ ♠✐♥❞❡♥ ❡❣②❡♥❧❡tr❡♥❞s③❡r ❡s❡t✁❡❜❡♥

❛❞ ✈✐ss③❛ ♣♦♥t♦s ❡r❡❞♠✁❡♥②t✳

❆ ❦✉t❛t✁❛s ❡r❡❞♠✁❡♥②❡✐ ♥❡♠ s♦❦❜❛♥ t✁❡rt❡❦ ❡❧ ❛ ✈✁❛rt♥✁❛❧✳ ☎❖ss③❡ss✁❡❣✁❡❜❡♥ ❡❧♠♦♥❞❤❛t✁♦✱

❤♦❣② ❛ t❛♥✉❧✁♦❦ t☎♦❜❜s✁❡❣❡ ♠❡❣❢❡❧❡❧✆♦❡♥ s❛❥✁❛t✁✙t❥❛ ❡❧ ❛ ♠✁♦❞s③❡r❡❦ ♠❡t✁♦❞✉s✁❛t ✁❡s ♠❡❣❢❡✲

❧❡❧✆♦❡♥ ❛❧❦❛❧♠❛③③✁❛❦ ❛③t ❛ ❦☎✉❧☎♦♥❜☎♦③✆♦ ❢❡❧❛❞❛t♦❦ ♠❡❣♦❧❞✁❛s❛❦♦r✳ ❆ ❦✉t❛t✁❛s♦♠ ♣♦③✐t✁✙✈

✈✐ss③❛❥❡❧③✁❡st ❛❞♦tt ♠✐♥❞ ❛ t❛♥✉❧✁♦❦✱ ♠✐♥❞ ❛ t❛♥✁❛r♦❦ ♠✉♥❦✁❛❥✁❛r✁♦❧✳

❆③ ✁❛❧t❛❧❛♠ ✈✁❡❣③❡tt ❦✉t❛t✁❛s s✐❦❡r❡s♥❡❦ ♠♦♥❞❤❛t✁♦ ❛ ♠✁♦❞s③❡r❡❦ ✐s♠❡r❡t✁❡♥❡❦ ✁❡s ❛❧❦❛❧✲

♠❛③✁❛s✁❛♥❛❦ s③❡♠♣♦♥t❥✁❛❜✁♦❧✳
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☎❖ss③❡❣③✁❡s

❆ ♠✉♥❦✁❛♠ ❡❧❦✁❡s③✁✙t✁❡s✁❡❤❡③ ✁❛tt❛♥✉❧♠✁❛♥②♦③t❛♠ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡t❡❦✱ ✐❧❧❡t✈❡ ❧✐♥❡✁❛r✐s

❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ❞❡✜♥✁✙❝✐✁♦❥✁❛t✳ ❊③t ❦☎♦✈❡t✆♦❡♥ ❛ ❧✐♥❡✁❛r✐s ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣✲

♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐ ❦❛♣t❛❦ ❢✆♦s③❡r❡♣❡t✱ ❡③❡❦ ❦☎♦③☎✉❧ ✐s ❛ t❛♥✉❧✁♦❦ s③✁❛♠✁❛r❛ ❧❡❣✐s♠❡rt❡❜❜❡❦✳

❊❧s✆♦ ❢❡❥❡③❡t❡♠ ❛❧❛♣❥✁❛✉❧ ❛ ✸ ❧❡❣✐s♠❡rt❡❜❜ ♠❡❣♦❧❞✁❛s✐ ♠❡t✁♦❞✉s s③♦❧❣✁❛❧t✱ ♠❡❧②❡❦❦❡❧ ❛

t❛♥✉❧✁♦❦ ✁❛❧t❛❧✁❛♥♦s ✐s❦♦❧❛✐ t❛♥✉❧♠✁❛♥②❛✐❦ s♦r✁❛♥ ♠❡❣✐s♠❡r❦❡❞♥❡❦✳ ❊③❡❦ ❛ ❦☎♦✈❡t❦❡③✆♦❦✿

❣r❛✜❦✉s ♠✁♦❞s③❡r✱ ❜❡❤❡❧②❡tt❡s✁✙t✆♦ ♠✁♦❞s③❡r ✁❡s ❡❣②❡♥❧✆♦ ❡❣②☎✉tt❤❛t✁♦❦ ♠✁♦❞s③❡r❡✳

P✁❡❧❞✁❛❦♦♥ ❦❡r❡s③t☎✉❧ ❜❡♠✉t❛tt❛♠ ❛ ♠✁♦❞s③❡r❡❦ ❛❧❦❛❧♠❛③✁❛s✁❛t ✈❛❧❛♠✐♥t ✈✁❛③❧❛t♣♦♥t♦❦❜❛

❢♦❣❧❛❧t❛♠ ❛ ♠✁♦❞s③❡r❡❦ ❛❧❣♦r✐t♠✉s✁❛t✳

❆ ♠✉♥❦✁❛♠ s♦r✁❛♥ ❛③ ✁❛❧t❛❧✁❛♥♦s ✐s❦♦❧✁❛❦ t❛♥❦☎♦♥②✈❡✐t ✈✐③s❣✁❛❧t❛♠ ♠❡❣✱ ❤♦❣② ❤♦❣②❛♥

♠❛❣②❛r✁❛③③✁❛❦ ❦☎✉❧☎♦♥❜☎♦③✆♦ s③❡r③✆♦❦ ❛③ ❡❣②❡♥❧❡tr❡♥❞s③❡r❡❦ ♠❡❣♦❧❞✁❛s✐ ♠✁♦❞s③❡r❡✐t✱ ♠✐❧②❡♥

♣✁❡❧❞✁❛❦ s❡❣✁✙ts✁❡❣✁❡✈❡❧ t❡s③✐❦ ✁❡rt❤❡t✆♦❜❜✁❡ ❛ t❛♥✉❧✁♦❦ s③✁❛♠✁❛r❛ ❛③ ❛❧❣❡❜r✁❛♥❛❦ ❡③❡♥ ❢♦♥t♦s

t✁❡♠❛❦☎♦r✁❡t✳

❚❛♥✉❧♠✁❛♥②♦③t❛♠ ❛ ❢❡❧s✆♦♦❦t❛t✁❛s❜❛♥ ✐s♠❡rt❡t❡tt ♠✁♦❞s③❡r❡❦❡t ✐s✱ ❡③❡❦ ❦☎♦③☎✉❧ ❛ ❦✁❡t ❧❡❣✲

✐s♠❡rt❡❜❜❡t✱ ❛ ●❛✉ss✲♠✁♦❞s③❡rt ✁❡s ❛ ❈r❛♠❡r✲s③❛❜✁❛❧②t✳

❑✉t❛t✁❛s♦♠ ❝✁❡❧❥❛✱ ❤♦❣② ✐s♠❡r❡t❡❦❡t s③❡r❡③③❡❦ ❛ ♠✁♦❞s③❡r❡❦ ❡❧s❛❥✁❛t✁✙t✁❛s✁❛♥❛❦ ❤❛t✁❡❦♦♥②✲

s✁❛❣✁❛r✁♦❧✳ ❚♦✈✁❛❜❜✁❛ ❛ t❛♥✉❧✁♦❦ s③❡♠♣♦♥t❥✁❛❜✁♦❧ ❢❡❧♠✁❡r❥❡♠✱ ♠❡❧②✐❦ ♠✁♦❞s③❡r s③✁❛♠✁✙t ❛

❧❡❣❦☎♦♥♥②❡❜❜♥❡❦ ✁❡s ♠❡❧②❡❦ ❛ ❧❡❣❣②❛❦r❛❜❜❛♥ ✈✁❡t❡tt ❤✐❜✁❛❦ ❛③ ❛❧❣♦r✐t♠✉s♦❦ ❛❧❦❛❧✲

♠❛③✁❛s❛❦♦r✳
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■r♦❞❛❧♦♠❥❡❣②③✁❡❦

❬✶❪ ❲❡tt❧ ❋❡r❡♥❝ ▲✐♥❡✁❛r✐s ❛❧❣❡❜r❛✳ ❲❡tt❧ ❋❡r❡♥❝✱ ❇▼❊ ❚❚❑✱ ✷✵✶✶✳

❬✷❪ ➪åâç ➹✳ Ï✳✱ ➪åâç ➶✳ ➹✳ ➚ëãåáðà✿ Ï✐äðó÷íèê äëÿ ✼ êë✳ çàãàëüíîîñâ✐òí✐õ

íàâ÷àëüíèõ çàêëàä✐â ç íàâ÷àííÿì óãîðñüêîþ ìîâîþ✳ ✃✳✿ ➬îä✐àê✲➴✃❰✱ ✷✵✵✼✳

Ïåðåêëàä óãîðñüêîþ ìîâîþ ➍✳ ➍✳ ⑨óëà÷✐✳✲❐üâ✐â✿ Ñâ✐ò✱ ✷✵✵✼✳✲✸✵✹ ñ✳✿✐ë✳

❬✸❪ ❒åðçëÿê ➚✳ ➹✳ ➚ëãåáðà ✿ ï✐äðó÷✳ äëÿ ✼ êë✳ çàãàëüíîîñâ✐ò✳ íàâ÷✳ çàêëàä✐â

ç íàâ÷✳ óãîðñüêîþ ìîâîþ✳ ➚✳ ➹✳ ❒åðçëÿê✱ ➶✳ ➪✳ Ïîëîíñüêèé✱ ❒✳ Ñ✳ ßê✐ð ❀

ïåð✳ ■✳ ➱✳ ➪åðåã✐✱ ➚✳ ➚✳ ➪óðêóø✳ ✕ ❐üâ✐â ✿ Ñâ✐ò✱ ✷✵✶✺✳ ✕ ✷✺✻ ñ✳ ✿ ✐ë✳
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